

AGENDA

REGULAR MEETING OF THE CAPE CORAL CHARTER SCHOOL GOVERNING BOARD

<u>Tuesday, March 12, 2024</u> <u>City of Cape Coral Council Chambers</u> <u>5:30 PM</u>

1. CALL TO ORDER

A. Chair Kristifer Jackson

2. MOMENT OF SILENCE:

A. Chair Jackson

3. PLEDGE OF ALLEGIANCE:

A. Chair Jackson

4. ROLL CALL:

A. Mykisha Atisele, Kristifer Jackson, Keith Long, Dist 6, Karen Michaels, Dr Guido Minaya, Charles Pease, Cathy Stout. Parent Representatives: Jennifer Hoagland/OHS, Gregor Schade/OMS, Jose Soto/OES, Caroline Rouzeau/OEN

5. <u>APPROVAL OF MINUTES:</u>

A. Request for Approval of the Minutes of the Regular Governing Board Meeting on Tuesday, February 13, 2024

6. APPROVAL OF AGENDA REGULAR MEETING:

A. Request for Approval of the Agenda of the Regular Meeting of the Cape Coral Charter School Authority Governing Board on Tuesday, March 12, 2024

7. PUBLIC COMMENT:

A. Public Comment is limited to three(3) minutes per individual; 45 minutes total comment time.

8. CONSENT AGENDA:

A. Request for Approval of the Cambridge University AICE Curriculum

and Assessments Program Invoice - June 2024 GCE AS & A Level, ADIP in the Amount of \$149,094.70

B. Request for Acceptance and Approval of the Students Against Violence Everywhere (SAVE) Promise Club Grant in the Amount of \$500.00, Which is to be Used to Purchase Materials to Successfully Create and Host Activities that Empower Oasis High School Students to Take an Active Role in School Safety and Prevention of Violence

9. SUPERINTENDENT REPORT:

A. Jacquelin Collins, Superintendent, Oasis Charter Schools

10. CITY MANAGER REPORT:

A. Mark Mason, Director of Finance, City of Cape Coral

11. COUNCILMEMBER REPORT:

A. Keith Long, District 6

12. CHAIR REPORT:

- A. Kristifer Jackson, Chair
- B. Calendar Reminder: CSA BUDGET WORKSHOP #1 Tuesday, April 9, 2024 at 4:00p.m. at City Council Chambers, 1015 Cultural Park Blvd., Cape Coral, FL 33990 - The Regular Governing Board Meeting will follow at 5:30p.m.
- C. Calendar Reminder: CSA BUDGET WORKSHOP #2 Tuesday, May 14, 2024 at 4:00p.m. at Oasis High School - Cafeteria, 3519 Oasis Blvd., Cape Coral, FL 33914 - The Regular Governing Board Meeting will follow at 5:30p.m.
- D. Review and Discussion of CSA Bylaws 0122.1 MEMBER POWERS; 0123 - STANDARDS OF BOARD MEMBER ETHICS AND BOARDMANSHIP; 0124 - STANDARDS OF ETHICAL CONDUCT

13. FOUNDATION REPORT:

A. Gary Cerny, Foundation President

14. STAFF COMMENT:

A. Dr. John Omundsen, Director, Oasis STEM Innovation

15. UNFINISHED BUSINESS:

A. No Activity

16. NEW BUSINESS:

A. Request for Acceptance and Approval of the Florida Department of Education 2023-2024 Local Capital Improvement (LCI) Revenue Payment to the City of Cape Coral Oasis Charter Schools in the Total Amount of \$909,511.00. The Specific Calculations for each City of Cape Coral Oasis Charter Schools Amounts to: Oasis Elementary South \$239,316.00; Oasis Elementary North \$222,724.00; Oasis Middle School \$229,761.00 and Oasis High School \$217,710.00.

17. FINAL BOARD COMMENT AND DISCUSSION:

18. TIME AND DATE OF NEXT MEETING

A. The Next Regular Governing Board Meeting will be held on Tuesday, April 9, 2024 at 5:30p.m., at City Council Chambers, 1015 Cultural Park Blvd., Cape Coral, FL 33990

19. ADJOURNMENT:

Members of the audience who address the Board/Commission/Committee shall step up to the speaker's lectern and give his/her full name, address and whom he/she represents. Proper decorum shall be maintained at all time. Any audience member who is boisterous or disruptive in any manner to the conduct of this meeting shall be asked to leave or be escorted from the meeting room.

In accordance with the Americans with Disabilities Act and SS 286.26, Florida Statutes, persons needing a special accommodation to participate in this proceeding should contact the Office of the City Clerk whose office is located at City Hall, 1015 Cultural Park Boulevard, Florida; telephone number is 1-239-574-0411, at least forty-eight (48) hours prior to the meeting for assistance. If hearing impaired, telephone the Florida Relay Service Numbers, 1-800-955-8771 (TDD) or 1-800-955-8700 (v) for assistance.

In accordance with Florida Statute 286.0105: any person who desires to appeal any decision at this meeting will need a record of the proceedings and for this purpose may need to ensure that a verbatim record of the proceedings is made which includes the testimony and evidence upon which the appeal is based. Item Number: 1.A. Meeting Date: 3/12/2024 Item Type: CALL TO ORDER

AGENDA REQUEST FORM City Of Cape Coral Charter School Authority

TITLE: Chair Kristifer Jackson

SUMMARY:

ADDITIONAL INFORMATION:

Item Number: 2.A. Meeting Date: 3/12/2024 Item Type: MOMENT OF SILENCE:

AGENDA REQUEST FORM City Of Cape Coral Charter School Authority

TITLE: Chair Jackson

SUMMARY:

ADDITIONAL INFORMATION:

Item Number: 3.A.

Meeting 3/12/2024 Date:

Item Type: PLEDGE OF ALLEGIANCE:

TITLE: Chair Jackson

SUMMARY:

ADDITIONAL INFORMATION:

RECOMMENDED ACTION:

AGENDA REQUEST FORM

City Of Cape Coral Charter School Authority

Item Number:	4.A.
Meeting Date:	3/12/2024
Item Type:	ROLL CALL:

AGENDA REQUEST FORM

City Of Cape Coral Charter School Authority

TITLE:

Mykisha Atisele, Kristifer Jackson, Keith Long, Dist 6, Karen Michaels, Dr Guido Minaya, Charles Pease, Cathy Stout. Parent Representatives: Jennifer Hoagland/OHS, Gregor Schade/OMS, Jose Soto/OES, Caroline Rouzeau/OEN

SUMMARY:

ADDITIONAL INFORMATION:

Item Number: 5.A. Meeting Date: 3/12/2024

Item Type: APPROVAL OF MINUTES:

AGENDA REQUEST FORM

City Of Cape Coral Charter School Authority

TITLE:

Request for Approval of the Minutes of the Regular Governing Board Meeting on Tuesday, February 13, 2024

SUMMARY:

ADDITIONAL INFORMATION:

RECOMMENDED ACTION:

ATTACHMENTS:

Description

GB MINUTES FEB 13 2024

Type Backup Material

VOLUME V PAGE: 202 February 13, 2024



GOVERNING BOARD MINUTES

Regular Meeting City of Cape Coral Charter School Authority Governing Board Oasis Elementary South - Cafeteria 3415 Oasis Blvd., Cape Coral FL 33914

1. Call to Order

Kristifer Jackson, Chair

A Regular Meeting of the City of Cape Coral Charter School Authority Governing Board of Lee County, Florida, met on Tuesday, February 13, 2024, at 5:34p.m., at Oasis Elementary South -Cafeteria, 3415 Oasis Blvd., Cape Coral, FL 33914.

2. <u>Moment of Silence</u>

Chair Jackson

- Pledge of Allegiance to the Flag of the United States of America Chair Jackson
- 4. Roll Call

Mykisha Atisele, Kristifer Jackson, Keith Long, Dist 6., Karen Michaels, Dr Guido Minaya, Charles Pease, Cathy Stout. Parent representatives: Jennifer Hoagland, OHS/SAC, Gregor Schade, OMS, Jose Soto, OES, Caroline Rozeau, OEN Also Present: Jacquelin Collins, Superintendent Jackie Corey, Principal, OHS Donnie Hopper, Principla, OMS Marybeth Grecsek, Principal, OES Carrie Abes, AP OES Kevin Brown, Principal, OEN Kelly Weeks, AP OEN Amy Brown, CSA HR Manager Mark Moriarty, Assistant City Attorney, CCC Mark Mason, Finance Director and Interim Human Resources Director, CCC Andrea Clark, Senior Accountant, CCC Jennifer Koehn, Assistant Accounting Manager, CCC Damon Grant, Assistant Public Works Director, CCC Terry Schweitzer, CCC Public Works

VOLUME V PAGE 203 February 13, 2024

Dustin Swartz, CCC ITS (tech support) Gary Cerny, Foundation President

5. Approval of Minutes

APPROVED UNANIMOUS Motion made by Member Stout, Second by Member Atisele to Approve the Minutes of the Charter School Authority Regular Governing Board Meeting held on Tuesday, December 12, 2023. Unanimous.

6. Approval of Regular Agenda Meeting

APPROVED UNANIMOUS Motion made by Member Michaels, Second by Member Pease to Approve the Agenda of the Regular Governing Board Meeting, December 12, 2023. Unanimous

7. Public Comment

7A. <u>A. Wilkinson, teacher OEN</u> - Wilkinson wants teachers to have better access to budget information and understand how the budget process works and how monies are allocated. She also would like to know if we have a lobbyist for school-related issues.

Superintendent Collins invited Wilkinson and all teachers, stakeholders, etc., to attend the CSA Budget Workshops #1 (April 9) and/or Budget Workshop #2 (May 14) to get an idea of how budget lines are developed and funding is approved. Each budget workshop will start at 4:00p.m. and the Regular GB Meeting will follow. The City does have a lobbyist with education specific experience; Collins will connect with them for more advice/direction.

7B. <u>K. Gault, teacher OES</u> - Commented on the charter school's new requirement to use the free phone app Duo or a Frequency Operated Button (fob) key to access the charter schools' networks. For personal reasons Gault is not in favor of using the device, she's unhappy with the (unexpected) requirement that the phone app or fob is to be used, and unhappy with the \$25 cost incurred by teachers who decide to not upload the free app on their personal phones. Gault is also concerned about the City's ITS department's ability to manage network security issues.

Duo is a two-factor security authentican biometric that allows users to safely enter/exit an organization's network. Superintendent Collins reviewed the Duo and/or fob key introduction to the system and usage timeline. Collins said she is aware the \$25 cost may be a burden to those who choose to not upload the free phone app, and that she is willing to work with whomever needs support.

Member Long, Dist 6 suggested an option could be to have the cost of the fob somehow subsidized so teachers don't have to pay.

Member Michaels and Member Minaya encouraged the superintendent to approach the Foundation for a possible grant to cover costs that could possibly come up in the next school year.

Member Pease said he would like to first see a survey given that shows an interest level. If 20+ people prefer the fob over the free phone app, a budget conversation may be necessary.

8. Consent Agenda

Motion made by Member Pease, Second by Member Michaels to Approve the Consent Items as Presented. **UNANIMOUS APPROVAL**

8A APPROVED Request for Acceptance and Approval of the City of Cape Coral Oasis Charter Schools Instructional Calendar School Year (SY) 2024-2025

8B APPROVED Request for Acceptance and Approval of the City of Cape Coral Charter School Authority Governing Board Meeting Dates School Year (SY) 2024-2025

8C APPROVED Request for Acceptance and Approval of the Oasis Elementary School South Year 6 Safety and Security of School Buildings TAPS-24A097 Grant in the Amount of \$12,989.61 Which is Based on FY23 4th Count FTE

8D APPROVED Request for Acceptance and Approval of the Oasis Elementary School North Year 6 Safety and Security of School Buildings TAPS-24A097 Grant in the Amount of \$11,461.08 Which is Based on FY23 4th Count FTE.

8E APPROVED Request for Acceptance and Approval of the Oasis Middle School Year 6 Safety and Security of School Buildings TAPS-24A097 Grant in the Amount of \$12,472.56 Which is Based on FY23 4th Count FTE

8F APPROVED Request for Acceptance and Approval of the Oasis High School Year 6 Safety and Security of School Buildings TAPS-24A097 Grant in the Amount of \$11,248.19 Which is Based on FY23 4th Count FTE

8G APPROVED Request for Acceptance and Approval of the Students Against Violence Everywhere (SAVE) Promise Club Grant in the Amount of \$500.00, Which is to be Used to Purchase Materials to Successfully Create and Host Activities that Empower Oasis Middle School Students to Take an Active Role in School Safety and Prevention of Violence

8H APPROVED Request for Acceptance and Approval of the Greater Fort Myers Chamber of Commerce Foundation Education Grant in the Amount of \$500.00, Which is to be Used for the Purchase of Flexible Seating in Oasis Elementary South School Classrooms

9. <u>Superintendent's Report</u>

- 9A. <u>Facilities Projects Update</u>: New carpets will be installed at OES and OEN over the summer. Other campus exterior/interior upgrades will take place over spring and Easter breaks.
- 9B. <u>Budget Workshops</u>: The CSA Budget Workshop #1 is April 9 at 4:00p.m. in Council Chambers. The Regular GB Meeting will follow at 5:30p.m. The Budget Workshop #2, if necessary, will take place on May 14th at 4:00p.m.at Oasis High School - Cafeteria; the Regular GB Meeting will follow at 5:30p.m. Everyone is encouraged to attend and learn about the budgeting process.
- 9C. <u>CS/House Bill 733(2023) Middle School and High School Start Times</u>: The bill requires district and charter schools to adopt new middle and high school start times beginning SY 2026-2027. Middle schools may not begin instruction prior to 8:00a.m., and high schools may not begin instruction prior to 8:30a.m. All school transporation fleets will need to be restructured to accommodate the mandate. The Superintendent is working closely with the CSA Transportation Manager to develop routes and timelines to properly serve our families.
- 9D. <u>CSA Before and After Care Programs:</u> The superintendent is in discussions with City Parks & Recreation to develop a before/after care program to meet the needs of families who will be affected by new middle and high school start times starting school year 2026-2027.
- 9E. <u>Strategic Plan Goal #1 Learner Mindset & Student Achievement</u>: Focus is on learner mindset and academic achievement utilizing innovative teacher and learning platforms. Strategic activities include:

<u>February 2024</u>: Admin & Principals visit <u>Rampello K-8 Downtown Partnership Magnet</u> <u>School</u> to experience AVID culture and matrix.

<u>March 2024</u>: Principals going to <u>ITEEA Awards in Memphis, TN</u> and will also visit <u>Crosstown High School</u> a learner-centered public charter that is built on a project based curriculum and authentic learning outcomes.

<u>April 2024</u>: Admin & Principals going to the <u>Learning & the Brain Conference</u> in New York City. Focus is on learning strategies for students of the future, fostering flexibility in classrooms and educator flexibility and mindset.

<u>June 2024:</u> Admin, principals, & educators going to the 2024 AVID Conference, June 16-19, in Orlando. AVID programs provide students with academic, social, and emotional support to help them succeed in school.

- 9F: STRATEGIC PLAN GOAL #2 CONTINUOUS IMPROVEMENT: Admin team going to Washington, D.C., February 23-25, to attend an all-expenses paid <u>Diversity in STEM</u> <u>Education Summit</u> offered by the Smithsonian Institute for Science Education. The summit will focus on building strategies for the recruitment and retention of diverse and highly qualified science, technology, engineering and mathematics educators.
- 9G: STRATEGIC PLAN UPDATE Moving alongside heavy admin/principal strategic activities, the superintendent is assigning committees, finalizing copy before publication, and setting up a dashboard to provide updates of strategic progress and relevant key performance indicators.

10. City Manager's Report

Mark Mason, Director of Financial Services, Interim Director, Human Resources, City of Cape Coral *No Report*

11. Chairman's Report

Kristifer Jackson, Chair

- Thanked board members for their dedication to the charter school system and teacher support.
- Attended the OCS Elementary Robotics Competition and was excited to see enthusiastic students and their families. He is very impressed with the charter schools vertical alignment and feels like the elementary students are ready to go through the pathways we are designing.
- Jackson is excited about the Youth Council attending the next meeting on March 12th. Anthony Sizemore, CCPD Chief of Police will also attend and give students an insight into student safety protocols that are currently in place.
- Jackson congratulated Dr Guido Minaya on his new role as Chair of the Horizon Council.
- The GB Reviewed this month's set of bylaws and opened the floor for any discussion.

12. Foundation Report

Gary Cerny, Foundation President - Jennifer Hoagland, Treasurer

- February 23 is the date Oasis High Class of 2024 Scholarship Applications open. There will be two awards categories: Academic and Trades.
- The Lighthouse Awards has a new date: <u>Friday, April 5, 2024</u> at La Venezia Ballroom from 6-10p.m. Invitations will be out in a few weeks

- Putt-Putt Partee Fun Night is Friday, March 8 at Tropical Breeze Family Fun Park from 5-9p.m.
- During the next meeting the Foundation will share a year-end report of the grant totals they have awarded the charter schools 2023-2024.

13. Staff Comment

No Activity

14. Unfinished Business

14A. APPROVED UNANIMOUS Motion made by Member Michaels, Second by Member Pease. Unanimous. Request for Approval of the Adjusted City of Cape Coral Oasis Charter Schools Employee ADD PAY Codes, Updated January 2024. - Amy Brown, CSA Human Resources Manager provided the GB with background information and commentary on this item.

15. New Business

15A. APPROVED UNANIMOUS Motion made by Member Pease, Second by Member Atisele. Unanimous. Request for Approval of the Oasis Middle School, #4171, Class Size Reduction Compliance Plan SY 2023-2024, which is a brief explanation of the School's Plan to Meet Class Size Requirements for the 2024 October FTE Student Survey, Pursuant to Section 1003.03, F.S. - Donnie Hopper, Principal, Oasis Middle School provided the GB with background information and commentary on this item.

15B. APPROVED UNANIMOUS Motion made by Member Michaels, Second by Member Stout. Unanimous. Request for Approval of the Addition of One (1) Cape Coral Charter Schools Bus Driver Position to be Added to the Adopted Budget FY 2024-2026. - Amy Brown, CSA Human Resources Manager provided the GB with background information and commentary on this item.

15C. APPROVED UNANIMOUS Motion made by Member Michaels, Second by Member Pease. Unanimous. Request for Approval to Allocate Reserves in the Total Amount of \$702,096.00, which is to be used for the City of Cape Coral Charter School Authority Employee Bonuses Scheduled for FY 2024 - Superintendent Jacquelin Collins provided the GB with background information and commentary on this item.

16. Final Board Comment and Discussion

Chair Jackson: Thanked OES principal and students for hosting the meeting. He really enjoyed the student's musicial performance. Thanked teachers for their patience and understanding. He and other board members would love nothing more than to give teachers more money and they are working on it. Thanked City staff for their partnership(s).

Vice Chair Michaels: Thanked the OES student's for their adorable performance. Thanked teachers for their patience as the GB keeps working on their issues - "we are not blind to the situation."

Member Atisele: No Comment

Member Long, Dist 6: No Commnet

Member Minaya: Thanked OES students for their presentation. Pleased the Strategic Plan process is already resulting in the development of new processes and thinking. Appreciates the City and Charter Finance departments are working so well together.

Member Pease: No Comment

Member Stout: Welcomed Member Pease from the last meeting. Reminded everyone the Oasis Middle School EF Tours Washington, D.C. trip is scheduled for June 8-13, 2024. So far, 15 students and 10 parents are ready to go. Look for fundraisers and fun auctions to rasie money for the participants who need \$2,500 each for the all-inclusive travel experience. Feb 19th is a fundraiser at Big Ten Restaurant with shared profits and a silent auction.

Parent Representative Hoagland/OHS: Very happy with the OHS teachers and staff, especially principal Corey who has made a very positive and uplifting environment for the kids and teachers. Thinks introducing trades into school curriculum is important and necessary today's world. She's very happy that grants and funding are used to expose students to many exciting adventures and field trips, and the recruitment of high-level educators.

Parent Representative Schade/OMS: Schade has three children in the Oasis system and for him that says enough. His family loves the teachers and the community atmosphere.

Parent Representative Soto/OES: Soto shares geat solidarity with the teachers and thanks them for all they do. He appreciates teachers even more since he became a parent representative because he has had the opportunity to get a small glimpse into their world which is humbling. He is also glad the GB is transparent and is so supportive of teachers and staff.

Parent Representative Rouzeau/OEN: Rouzeau has three students in the system who absolutely love their teachers and school. She applauds teachers for their courage to come forward and use their voices and be heard. She is proud the GB works hard for the teachers and is trying to increase well-earned salaries.

VOLUME V PAGE 209 February 13, 2024

17. Time and Date of Next Meeting

The next Regular Governing Board Meeting will be held on Tuesday, March 12, 2024 at 5:30p.m.,at Cape Coral City Council Chambers, 1015 Cultural Park Blvd., Cape Coral 33990

18. Adjournment

The Governing Board Regular Meeting adjourned at 7:45p.m.

Respectfully Submitted,

Kathleen Paul-Evans, Governing Board Secretary

Cape Coral Charter School Authority Governing Board

Secretary

Date of approval

Item 6.A. Number: 6.A. Meeting 3/12/2024 Date: 3/12/2024 Item Type: APPROVAL OF AGENDA REGULAR MEETING:

AGENDA REQUEST FORM

City Of Cape Coral Charter School Authority

TITLE:

Request for Approval of the Agenda of the Regular Meeting of the Cape Coral Charter School Authority Governing Board on Tuesday, March 12, 2024

SUMMARY:

ADDITIONAL INFORMATION:

Item Number: 7.A. Meeting Date: 3/12/2024 Item Type: PUBLIC COMMENT:

AGENDA REQUEST FORM

City Of Cape Coral Charter School Authority

TITLE:

Public Comment is limited to three(3) minutes per individual; 45 minutes total comment time.

SUMMARY:

ADDITIONAL INFORMATION:

Item Number: 8.A. Meeting Date: 3/12/2024 Item Type: CONSENT AGENDA:

AGENDA REQUEST FORM

City Of Cape Coral Charter School Authority

TITLE:

Request for Approval of the Cambridge University AICE Curriculum and Assessments Program Invoice - June 2024 GCE AS & A Level, ADIP in the Amount of \$149,094.70

SUMMARY:

ADDITIONAL INFORMATION:

RECOMMENDED ACTION:

ATTACHMENTS:

Description

 AICE CAMBRIDGE INV JUNE 2024 \$149,094.70 Туре

Backup Material



START HERE. GO EVERYWHERE.

то:	Cape Coral Charter School Authority Governing Board
THRU:	Jacquelin Collins, Superintendent, Oasis Charter Schools
FROM:	Jackie Corey, Principal, Oasis High School
DATE:	March 5, 2024
SUBJECT:	Cambridge Assessment Invoice – June 2024 GCE AS & A Level, ADIP

Background

The Cambridge University AICE curriculum is a challenging program designed to adequately prepare students for university coursework. This prestigious program features an advanced academic curriculum and assessment program designed by the University of Cambridge in England. Students in the AICE program can earn college credits while in high school, and subsequently, become eligible for the Florida Bright Futures Scholarship Program. Oasis High School is one of the few high schools to offer this program in Lee County, which helps to distinguish the school amongst the many high school choices.

Request for Approval

The cost of this program varies from year to year based on the number of students that enroll in each class. Consequently, the charter school has received an invoice for AICE assessments in all coursework offered this year in the amount of \$149,094.70. Since the invoice surpasses the \$100,000 purchasing threshold, Oasis High School is requesting Jacquelin Collins, Superintendent, Oasis Charter Schools to approve the purchase order for this impressive program.

ecle

239.541.1167 🕋 239.541.1590 🖷 TheOasisAdvantage.com 🗔 3519 Oasis Blvd., Cape Coral, FL 33914 ♀





INVOICE

Oasis High School Finance (CIE) 3519 Oasis Blvd Cape Coral FL 33914 USA CurrencyUSDInvoice Number101819344Invoice Date01.03.2024P.O. Number01.03.24Our ReferenceCentre NumberCentre NumberUS191Your VAT Reference29.03.2024

OUR VAT Reg No. GB823847609

Page 1 of 2

JUNE 2024 - GCE AS & A LEVEL

Product Code	Description	QTY	Unit Price	Amount	VAT%
8021	ENGLISH GENERAL PAPER	222	114.50	25,419.00	0% RW
8022	SPANISH LANGUAGE	10	114.50	1,145.00	0% RW
8291	ENVIRONMENTAL MANAGEMENT	84	114.50	9,618.00	0% RW
9093	ENGLISH LANGUAGE	102	114.50	11,679.00	0% RW
9239	GLOBAL PERSPECTIVES & RESEARCH	93	200.80	18,674.40	0% RW
9483	MUSIC	3	114.50	343.50	0% RW
9489	HISTORY	183	114.50	20,953.50	0% RW
9694	THINKING SKILLS	94	185.20	17,408.80	0% RW
9695	LITERATURE IN ENGLISH	54	114.50	6,183.00	0% RW
9695	LITERATURE IN ENGLISH	93	114.50	10,648.50	0% RW
9695	LITERATURE IN ENGLISH	1	114.50	114.50	0% RW
9701	CHEMISTRY	5	114.50	572.50	0% RW
9701	CHEMISTRY	16	114.50	1,832.00	0% RW
9702	PHYSICS	6	114.50	687.00	0% RW
9702	PHYSICS	17	114.50	1,946.50	0% RW
9709	MATHEMATICS	72	114.50	8,244.00	0% RW
9709	MATHEMATICS	41	114.50	4,694.50	0% RW
9709	MATHEMATICS	1	114.50	114.50	0% RW
9990	PSYCHOLOGY	77	114.50	8,816.50	0% RW

149,094.70	Net Total	VAT	GOODS	VAT RATE
0.00	VAT	0.00	149,094.70	RW - VAT not applicable outside EC
149,094.70	Total USD	0.00	149,094.70	Total

Assessment

PB 315124





INVOICE

Oasis High School Finance (CIE) 3519 Oasis Blvd Cape Coral FL 33914 USA

Currency	USD
Invoice Number	101819344
Invoice Date	01.03.2024
P.O. Number	01.03.24
Our Reference	
Centre Number	US191
Your VAT Reference	
Payment Due Date	29.03.2024

OUR VAT Reg No. GB823847609

Page 2 of 2

64000 20.7209************************************		.e.,
		guoting your Centre No-and Invoice number
Bank Transfer to	Cheques to:	For finance queries & remittances
HSBC Bank USA NA, 452 5TH Ave,	Cambridge Univ PA1,	advices
New York, NY 10018 USA	P,Q.BOX 360736	Email: CreditControl@cambridge.org
	Pittsburgh, PA 15251-6736, US	
Account No: 889028184 Swift (BIC):	MRMDUS33 Account Name: 0 0 ABA Routing(Wire Paymen	Cambridge Univ PA1
ABA Routing(ACH Payments): 02200002	20 ABA Routing(Wire Paymen	its): 021001088

Correspondence Address: The Finance Division	Currency: USD	Centre No:	Invoice No.	Total
Cambridge Assessment The Triangle Building, Shaftesbury Road Cambridge, CB2 8EA UK	Oasis High School	US191	101819344	149,094.70

Item Number: 8.B. Meeting Date: 3/12/2024 Item Type: CONSENT AGENDA:

AGENDA REQUEST FORM

City Of Cape Coral Charter School Authority

TITLE:

Request for Acceptance and Approval of the Students Against Violence Everywhere (SAVE) Promise Club Grant in the Amount of \$500.00, Which is to be Used to Purchase Materials to Successfully Create and Host Activities that Empower Oasis High School Students to Take an Active Role in School Safety and Prevention of Violence

SUMMARY:

ADDITIONAL INFORMATION:

RECOMMENDED ACTION:

ATTACHMENTS:

	Description	Туре
۵	SAVE PROMISE GRANT OHS MARCH 2024 \$500	Backup Material

The SAVE Club Grant was approved last evening. Per the letter we have two options for spending the funds, we can either create a new Internal Fund



PERSONAL PASSIONATE



THE SCHOOL DISTRICT OF LEE COUNTY

Dr. Jessica Duncan Executive Director, Student Services 2855 Colonial Boulevard, Fort Myers, FL 33966 | O: 239.337-8342

To Whom It May Concern:

Students Against Violence Everywhere (SAVE) Promise Clubs are a youth leadership initiative of Sandy Hook Promise. Led by the SHP Youth Advisory Board, the aim is to empower young leaders to take an active role in increasing school safety and preventing different forms of violence in schools and communities. Youth-led SAVE Promise Clubs offer a powerful approach to preventing violence because they recognize the unique role that young people play in making their schools and communities safer.

The \$500 grant schools receive is for the SAVE Promise Clubs to purchase materials to run activities, purchase SAVE Promise Club t-shirts, host a community event, etc. A SAVE Promise Club can be a stand-alone or embedded into an existing club, such as SADD, Student Council, FCCLA, or another student leadership, civic, or kindness club. Many SAVE Promise Clubs successfully meet only once or twice a month and organize four activities throughout the year. SAVE Promise Clubs Creates Lasting Change That Leads to Safer Schools.

Sincerely,

dinka in

Dr. Jessica Duncan Executive Director, Student Services School District of Lee County

Jana Humenay, Accounting Assistant

FINANCIAL SERVICES DEPARTMENT



1015 Cultural Park Boulevard Cape Coral, Florida 33990

Tel: 7478

jhumenay@capecoral.gov

Please be cautious

This email was sent outside of your organization

Please be cautious

This email was sent outside of your organization

SandyHook Check for \$250

Jana Humenay <jhumenay@capecoral.gov>

Thu 2/29/2024 9:32 AM

To:Roxie Gomez <Roxie.Gomez@capecharterschools.org>

Cc:Jennifer Koehn <jkoehn@capecoral.gov>;Andrea Clark <aclark@capecoral.gov>;Kathleen Paul-Evans <Kathleen.Paul-Evans@capecharterschools.org>

Good Morning Roxie

I have the \$250 RDSO from the Sandy Hook Promise Foundation. I see that you have it going to IF425-National Honor Society. Do you have any other backup to go along with this?

Jenn – Do you have any objections to this going to the National Honor Society based on the Letter we received with the OMS donation? Does this type of donation require Governing Board Approval? The High School received \$250.

The SAVE Club Grant was approved last evening. Per the letter we have two options for spending the funds, we can either create a new Internal Fund



REONAL | PASSIONATE

THE SCHOOL DISTRICT OF LEE COUNTY Dr. Jessica Duncan Executive Director, Student Services 2855 Colonial Boulevard, Fort Myers, FL 33966 | O: 239.337-8342

To Whom It May Concern:

Students Against Violence Everywhere (SAVE) Promise Clubs are a youth leadership initiative of Sandy Hook Promise. Led by the SHP Youth Advisory Board, the aim is to empower young leaders to take an active role in increasing school safety and preventing different forms of violence in schools and communities. Youth-led SAVE Promise Clubs offer a powerful approach to preventing violence because they recognize the unique role that young people play in making their schools and communities safer.

The \$500 grant schools receive is for the SAVE Promise Clubs to purchase materials to run activities, purchase SAVE Promise Club t-shirts, host a community event, etc. A SAVE Promise Club can be a stand-alone or embedded into an existing club, such as SADD, Student Council, FCCLA, or another student leadership, civic, or kindness club. Many SAVE Promise Clubs successfully meet only once or twice a month and organize four activities throughout the year. SAVE Promise Clubs Creates Lasting Change That Leads to Safer Schools.

Sincerely,

Minuca.

Dr. Jessica Duncan Executive Director, Student Services School District of Lee County



Jana Humenay, Accounting Assistant

FINANCIAL SERVICES DEPARTMENT 1015 Cultural Park Boulevard Cape Coral, Florida 33990 Tel: 7478 jhumenay@capecoral.gov

ltem Number:	9.A.
Meeting Date:	3/12/2024
Item Type:	SUPERINTENDENT REPORT:

AGENDA REQUEST FORM City Of Cape Coral Charter School Authority

TITLE:

Jacquelin Collins, Superintendent, Oasis Charter Schools

SUMMARY:

ADDITIONAL INFORMATION:

Item Number: 10.A.

Meeting 3/12/2024 Date:

Item Type: CITY MANAGER REPORT:

AGENDA REQUEST FORM

City Of Cape Coral Charter School Authority

TITLE:

Mark Mason, Director of Finance, City of Cape Coral

SUMMARY:

ADDITIONAL INFORMATION:

Item 11.A. Number: 11.A. Meeting 3/12/2024 Date: COUNCILMEMBER REPORT:

TITLE: Keith Long, District 6

SUMMARY:

ADDITIONAL INFORMATION:

RECOMMENDED ACTION:

AGENDA REQUEST FORM

City Of Cape Coral Charter School Authority Item Number: 12.A. Meeting Date: 3/12/2024 Item Type: CHAIR REPORT:

AGENDA REQUEST FORM City Of Cape Coral Charter School Authority

TITLE: Kristifer Jackson, Chair

SUMMARY:

ADDITIONAL INFORMATION:

Item Number: 12.B. Meeting Date: 3/12/2024 Item Type: CHAIR REPORT:

AGENDA REQUEST FORM

City Of Cape Coral Charter School Authority

TITLE:

Calendar Reminder: CSA BUDGET WORKSHOP #1 - Tuesday, April 9, 2024 at 4:00p.m. at City Council Chambers, 1015 Cultural Park Blvd., Cape Coral, FL 33990 - The Regular Governing Board Meeting will follow at 5:30p.m.

SUMMARY:

ADDITIONAL INFORMATION:

Item Number: 12.C. Meeting Date: 3/12/2024 Item Type: CHAIR REPORT:

AGENDA REQUEST FORM

City Of Cape Coral Charter School Authority

TITLE:

Calendar Reminder: CSA BUDGET WORKSHOP #2 - Tuesday, May 14, 2024 at 4:00p.m. at Oasis High School - Cafeteria, 3519 Oasis Blvd., Cape Coral, FL 33914 - The Regular Governing Board Meeting will follow at 5:30p.m.

SUMMARY:

ADDITIONAL INFORMATION:

Item Number: 12.D. Meeting Date: 3/12/2024 Item Type: CHAIR REPORT:

AGENDA REQUEST FORM

City Of Cape Coral Charter School Authority

TITLE:

Review and Discussion of CSA Bylaws - 0122.1 - MEMBER POWERS; 0123 - STANDARDS OF BOARD MEMBER ETHICS AND BOARDMANSHIP; 0124 - STANDARDS OF ETHICAL CONDUCT

SUMMARY:

ADDITIONAL INFORMATION:

RECOMMENDED ACTION:

ATTACHMENTS:

Description

D CSA BYLAWS 0122.1, 0123, 0124

Type Backup Material

Book	Policy Manual
Section	0000 Bylaws
Title	MEMBER POWERS
Code	po0122.1
Status	Active
Adopted	April 12, 2016



0122.1 - MEMBER POWERS

Governing Board members as individuals do not separately possess the powers that reside in the Board. Board members shall have authority only when acting as a Board legally in session. The Board shall not be bound in any way by any statement or action on the part of any individual Board member, except when such statement or action is pursuant to specific official instructions of the Board.

Last Modified by Tammy R Shroyer on November 8, 2017

e esta e	a series a s		
		Dia constitute di pres	
		·*	· .
. ¹			

Book	Policy Manual
Section	0000 Bylaws
Title	STANDARDS FOR BOARD MEMBER ETHICS AND BOARDMANSHIP
Code	po0123
Status	Active
Adopted	April 12, 2016

0123 - STANDARDS FOR BOARD MEMBER ETHICS AND BOARDMANSHIP

While serving on the Governing Board, each member shall agree to uphold the following standards:

- A. remember that the first and greatest concern must be the educational welfare of all students attending the charter public schools, regardless of ability, race, creed, sex, or socio-economic status;
- B. obey the law of Florida and the United States and bring about desired changes through legal and ethical procedures;
- C. respect the confidentiality of privileged information;
- D. recognize that as an individual Board member there is no authority to speak or act for the Board;
- E. avoid conflicts of interest or the appearance thereof;
- F. delegate authority for the administration of the schools to the superintendent and staff;
- G. render all decisions based on the available facts and independent judgment rather than succumbing to the influence of individuals or special interest groups;
- H. make every effort to attend all Board meetings and workshops;
- I. become informed concerning the issues to be considered at each meeting;
- J. support the employment of staff members based on qualifications and not as a result of influence;
- K. refrain from using the Board position for personal benefit or the benefit of family members or business associates;
- L. express personal opinions but, once the Board has acted, accept the will of the majority; and
- M. encourage recognition of the achievements of students and staff and the involvement and support of business and community members.

Last Modified by Tammy R Shroyer on February 4, 2022

Book	Policy Manual
Section	0000 Bylaws
Title	STANDARDS OF ETHICAL CONDUCT
Code	po0124
Status	Active
Adopted	April 12, 2016
Last Revised	March 9, 2021

0124 - STANDARDS OF ETHICAL CONDUCT

The Governing Board hereby establishes the following as the standards of ethical conduct for all members of the Board:

- A. A Board member shall:
 - make a reasonable effort to protect the student from conditions harmful to learning and/or to the student's mental and/or physical health and/or safety.
 - 2. not unreasonably restrain a student from independent action in pursuit of learning.
 - 3. not unreasonably deny a student access to diverse points of view.
 - 4. not intentionally expose a student to unnecessary embarrassment or disparagement.
 - 5. not intentionally violate or deny a student's legal rights.
 - 6. not harass or discriminate against any student on the basis of race, color, religion, sex, age, national or ethnic origin, political beliefs, marital status, handicapping condition, sexual orientation, or social and family background and shall make reasonable efforts to assure that each student is protected from harassment or discrimination.
 - 7. not exploit a relationship with a student for personal gain or advantage.
 - 8. keep in confidence personally identifiable information obtained in the course of professional service, unless disclosure serves professional purposes or is required by law.
 - take reasonable precautions to distinguish between personal views and those of any educational institution or organization with which the individual is affiliated.
 - 10. not intentionally distort or misrepresent facts concerning an educational matter in direct or indirect public expression.
 - 11. not use institutional privileges for personal gain or advantage.
 - 12. accept no gratuity, gift, honoraria, or favor that might influence professional judgment.
 - 13. not directly or indirectly solicit any gift or knowingly accepting, directly or indirectly, a gift valued in excess of \$50.00 or an honorarium, from a person, vendor, potential vendor, or other entity doing business with the Board, from a political committee, or from a lobbyist (are related individuals and entities) who lobbies the reporting individual's agency. "Vendor" is defined by F.S. 112.3148 relating to gifts and F.S. 112.3149 relating to honoraria to mean a business entity doing business directly with an agency, such as renting, leasing, or selling realty, goods, or services. The term "gift" has the same meaning as in F.S. 112.312(12). This prohibition applies as well to relatives, as defined in F.S. 112.312(21).

- 14. offer no gratuity, gift, or favor to obtain special advantages.
- 15. maintain honesty in all professional dealings.
- 16. not on the basis of race, color, religion, sex, age, national or ethnic origin, political beliefs, marital status, handicapping condition if otherwise qualified, or social and family background deny to a colleague professional benefits or advantages or participation in any professional organization.
- 17. not interfere with a colleague's exercise of political or civil rights and responsibilities.
- 18. not engage in harassment or discriminatory conduct which unreasonably interferes with an individual's performance of professional or work responsibilities or with the orderly processes of education or which creates a hostile, intimidating, abusive, offensive, or oppressive environment; and, further, shall make reasonable efforts to assure that each individual is protected from such harassment or discrimination.
- 19. not make malicious or intentionally false statements about a colleague.
- 20. not use coercive means or promise special treatment to influence professional judgments of colleagues.
- 21. not misrepresent one's own professional qualifications.
- 22. not submit fraudulent information on any document in connection with professional activities.
- 23. not withhold information regarding a position from an applicant or misrepresent an assignment or conditions of employment.
- 24. not assist entry into or continuance in the profession of any person known to be unqualified in accordance with these *Principles of Professional Conduct for the Education Profession in Florida* and other applicable Florida statutes and State Board of Education rules.
- 25. self-report within forty-eight (48) hours to appropriate authorities (as determined by the Authority) any arrests/charges involving the abuse of a child or the sale and/or possession of a controlled substance. Such notice shall not be considered an admission of guilt nor shall such notice be admissible for any purpose in any proceeding, civil or criminal, administrative or judicial, investigatory or adjudicatory. In addition, Board members shall self-report any conviction, finding of guilt, withholding of adjudication, commitment to a pretrial diversion program, or entering of a plea of guilty or Nolo Contendere for any criminal offense other than a minor traffic violation within forty-eight (48) hours after the final judgment. When handling sealed and expunged records disclosed under this rule, the Authority shall comply with the confidentiality provisions of F.S. 943.0585(4)(c) and 943.059(4)(c).
- 26. report to appropriate authorities any known allegation of a violation of the Florida School Code or State Board of Education rules as defined in F.S. 1012.795(1).
- 27. seek no reprisal against any individual who has reported any allegation of a violation of the Florida School Code or State Board of Education rules as defined in F.S. 1012.795(1).
- 28. comply with all duties and responsibilities set forth in the K-20 Education Code and the Code of Ethics for Public Officers and Employees.
- B. All Board members shall adhere to the principles enumerated above. Each Board member must recognize that decisions must be made by the Board as a whole and that when made, these decisions must be supported by the entire Board. Furthermore, pursuant to F.S. 1001.42(7), a Board member may not knowingly sign and transmit to any State official a report of alleged misconduct by instructional personnel or school administrators which affects the health, safety, or welfare of a student which the Board member knows to be false or incorrect, or knowingly fail to adopt policies that require instructional personnel and school administrators to report alleged misconduct by other instructional personnel and school administrators, or that require the investigation of all reports of alleged misconduct by instructional personnel and school administrators, if the misconduct affects the health, safety, or welfare of a student. Violation of these provisions will result in the forfeit of the Board member's salary for one (1) year.

All Board members shall complete four (4) hours of ethics training annually that addresses, at a minimum, the constitutional "Sunshine Law" provisions (Article II, Section 8), the statutory <u>Code of Ethics for Public Officers and</u> <u>Employees</u> (F.S. Chapter 112, Part III), and the public records and public meetings laws. This requirement may be satisfied

BoardDocs® PL

by completion of a continuing legal education class or other continuing professional education class, seminar, or presentation if the required subjects are covered.

Members of the Board are also required to complete training annually on the standards of ethical conduct established in this bylaw.

Appointment or Employment of Relative

Pursuant to F.S. 1012.23(2), Board members may not appoint or employ a relative, as defined in F.S. 112.3135, to work under their direct supervision. This limitation does not apply to employees appointed or employed before the election or appointment of the Board member.

Revised 2/9/21 Revised 3/9/21

© Neola 2020

Legal F.S. 112.312 F.S. 112.313 F.S. 112.3142 F.S. 112.3148 F.S. 112.3149 F.S. 112.3149 F.S. 1001.42(6) F.S. 1001.421 F.S. 1012.23 F.A.C. 6A-10.081

Last Modified by Tammy R Shroyer on February 4, 2022

Item Number: 13.A. Meeting Date: 3/12/2024 Item Type: **FOUNDATION REPORT:**

AGENDA REQUEST FORM

City Of Cape Coral Charter School Authority

TITLE:

Gary Cerny, Foundation President

SUMMARY:

ADDITIONAL INFORMATION:

Item Number: 14.A. Meeting Date: 3/12/2024 Item Type: STAFF COMMENT:

AGENDA REQUEST FORM

City Of Cape Coral Charter School Authority

TITLE:

Dr. John Omundsen, Director, Oasis STEM Innovation

SUMMARY:

ADDITIONAL INFORMATION:

Item Number: 15.A. Meeting Date: 3/12/2024 Item Type: UNFINISHED BUSINESS:

AGENDA REQUEST FORM

City Of Cape Coral Charter School Authority

TITLE: No Activity

SUMMARY:

ADDITIONAL INFORMATION:

Item Number: 16.A. Meeting Date: 3/12/2024 Item Type: NEW BUSINESS:

AGENDA REQUEST FORM City Of Cape Coral Charter School Authority

TITLE:

Request for Acceptance and Approval of the Florida Department of Education 2023-2024 Local Capital Improvement (LCI) Revenue Payment to the City of Cape Coral Oasis Charter Schools in the Total Amount of \$909,511.00. The Specific Calculations for each City of Cape Coral Oasis Charter Schools Amounts to: Oasis Elementary South \$239,316.00; Oasis Elementary North \$222,724.00; Oasis Middle School \$229,761.00 and Oasis High School \$217,710.00.

SUMMARY:

ADDITIONAL INFORMATION:

RECOMMENDED ACTION:

ATTACHMENTS:

Description

LCI 2023-2024 \$909,511.00

Type Backup Material



State Board of Education

Ben Gibson, Chair Ryan Petty, Vice Chair Members Monesia Brown Esther Byrd Grazie Pozo Christie Kelly Garcia MaryLynn Magar

MEMORANDUM

TO:	District School Superintendents
FROM:	Suzanne Pridgeok Allenne Ridger

DATE: January 25, 2024

SUBJECT: 2023-24 Local Capital Improvement Revenue for Eligible Charter Schools

Section 1013.62(3), F.S., requires school districts to distribute to eligible charter schools, by February 1, 2024, local capital improvement (LCI) revenue from the discretionary millage authorized in section 1011.71(2), F.S. Attached are a district-level summary and a summary by charter school of the required distribution amounts, as calculated by the Florida Department of Education (FDOE). For the 2023-24 fiscal year, each school's distribution is equivalent to 20 percent of the maximum calculated amount, as required by section 1013.62(3)(d)1., F.S. The specific methodology of the calculation was outlined in the Technical Assistance Note No. 2023-03 sent out on September 26, 2023.

Please note that each school district's LCI amount has been reduced by its annual debt service obligation incurred as of March 1, 2017, and paid during the 2023-24 year from LCI funds, and by its Special Facility Construction Program participation requirement, if applicable. Each school district is responsible for amending eligible charter school payments after the end of the fiscal year if it does not expend the full certified debt service. Examples may include federal interest expense subsidies or Special Facility Construction Program participation requirement certified to FDOE earlier in the year.

Each charter school's distribution amount has been reduced by the state funds allocated for charter school capital outlay, pursuant to section 1013.62(2), F.S., if applicable.

SP/jb

Attachments

cc: District Finance Officers

Mark Eggers, Assistant Deputy Commissioner, Division of Finance and Operations Li Liu, Bureau Chief, School Business Services Josh Bemis, Educational Policy Director, Office of Funding and Financial Reporting Adam Emerson, Executive Director, Office of Independent Education and Parental Choice Vicki Pineda, Charter Schools Director, Office of Independent Education and Parental Choice

> Suzanne Pridgeon Deputy Commissioner, Finance and Operations

Manny Diaz, Jr. **Commissioner of Education**

Florida Department of Education

2023-24 Local Capital Improvement (LCI) Revenue to Eligible Charter Schools Deniver Summan

t trom/bestA

	YISMIT	ns r	yidzia			
 0005-0		(107)	NICOLOGIA CONTRACTOR OF CONTRA	rendero	10000	w7-4

209'201'65	510'805'562	588,624,615	200'2+9'805		01'009'612'2	05.198,185	09'866'256'7	£06'722'769.E	221,008.21	212,656,010,1	0+6'1+0'EZT.+		162,722,976,8,886,5	21815
	310 803 300			92'605	01.008.815.5		07.170.6	618,202.1 F00 552 500 £	CC1 008 51		619'595'1	051.1	100 205 020 990 E	nolgnintasW
203'422	\$12.718.5	369,645	604'991'E	28.88C,2	11,164.21	283.682	85.472,01	810'626'65		000'260'2	810,150,58	266.1	818,039,285,3h	Watton
3,202	900'91	091'96	887'711	£4.888	C9'C00'S	166.23	09'208'2	3'446,283			3'**8'583	0051	5, 393, 251, 777	Matulia
399,665	££8,766,1	2 046 558	100,044,391	92.071.1	88.427,62	3,454,50	86.005,88	167 956 69	•	21,404,500	166'290'16	005.1	62,152,344,53	eisutoV I
·	•	•	•	S6.98	2,180.80	-	2,180.80	296'995	•	•	E96'995	005.1	393,724,576	noinU
	:	-	-	60'62E'i	2'225'24	-	5,522,74	37325,943	:		69'671'F	0051	2012,328,432,570 2,328,432,570	Suwannee Suwannee
1 821 85	129'692'6	2,181,225	999'096'11	3'543'50	11.952.6	18.189.5	96'945'5	30,028,063		2,114,069	32,142,152	0091	23'935'219'2	Sumter
533'389	118'997'1	1,729,785	3, 196, 626	10.460,1	8712929	2'818'90	89'192'69	98'913'514	•	169'925'01	806'691'62	005.1	LNE'166'266'NS	Saminote
616.062.C	968,426,71	4,132,005	22,066,901	SILETIE	09'920'77	99.096,8	¥6'520'2E	655. NET , 851	•	158,578,81	061,704,821	009.1	107.921,659,158,501	etozens2
968'1	54'42 194'42	21'833 3'885'534	219,888,8 214,88	16'210'1	24.281,44	29.78	28,062,20	\$4'239'921	•	2, 176,050	26,712,721	1.500	06+'005'055'81	ecof stre2
069'86	877 661	121 121	219,916	18 005'1	21.722,94	6.553.02	07 629 20	10'662'91		982'610'51	810,150,81	005.1	45,603,055,308	St. Lucie
-		568,644	-		81 282 6	97'097	Z4'EEE'6	-	VIL'SZZ'01		\$11'922'01	0051	009 217,284,7	mentura
016,825	2'55t' 220	S+0'99+'9	262,087,8	51.641	113,214,12	18'508'11	92.801,101	84, 203, 533	•	105,288,21	0+8.880,001	005.1	69,492,250,246	NP-d I
2'419'333	12,091,961	261,120,5	16,143,753	34,0360,46	80.408,28	6,639,24	18,187,87	202,064,633	•	•	202'064'633	009.1	140.322,662,036	selloor9
161'59	\$16'527	008.046.2	511'991'5	\$7.653	17.023.58	9,014.25	97'600'E2	212,474,217	•	58' 232'055	19,009,239	005'1	998'925'296'95	CO252
899' 786'7 846' 29 6	54'623'358	862'506'11 6'662'633	159,858,621	8C.878.1 78.58.1	20.020,881	19 960 02	52,818,02 52,954,46	140,969,015 181,959,015		155,608,351	114,275,97	005.1	332,628,757,631	Daccoda
2,143,140	E01.217.01	621,962,01	264.015,15	E9'161'1	19.659.851	E# E88,71	81.876.081	E01 196 9EZ		010,606,68	E11,816.85E	0091	000,717,100,015,62	ອຸດິນສາດອະ
-		-		87.780.1	12.950.9	-	¥4'990'9	855'985'9			855,382,3	005.1	658'866'E45'>	Olusechobes
978,EMC	090'912'1	828,612,1	2,932,008	1'431'58	SC.972,05	2'048' 22	28,527,80	43,762,656	•	•	959'291'67	005'1	30'380'133'381	6800kbiO
•	•	•	•	AC.820.1	87.854,S1	•	12,428,76	24,339,793	•	•	24,339,793	005.1	16'605'633'648	nessen
609'977 728'109	110 YCZ Z 2/2 651 C	507,182 204,848	912,218,5	2,867.68	20'921'8	68'196	81.441.7	596'205'992	•	1,821,163	25, 124, 148	005'0	605'5/6'1¥C'ZS	eornow (
28,22	S11'6/1	269,575	700,52 %	981.28 981.29	15.975.51	10'2C7'1 59'097	12,944,24	2+2'629'8+ 6+9'066'1+		282,623 2,534,281	21, 163, 523	005.1	32'230'354'950	nonsM (
B21.221.5	¥97,033,01	2,229,405	681,068,21	81.008.1	92'192'09	8,827.00	94.462.14	90,660,205		616.075.01	+SS.059.501	0051	829'566'C21'Z2	00150834
10.141	101,08	827'222	981 607	01.047	69'521'Z	20173	1,631,26	257'119'1		541,094	155'258'1	0051	1,286,493,744	UOSIDEN
•	•	•	•	68'151	07'261'1	•	07.761.1	788,442	•	•	289'775	0051	318'55'826	Ausogra (
-		110,726	595'66	51.002	21'202'15	06.881	52.021.2	180,788,5	1,530,126	619,888	4,654,126	005.1	3.370,920,603	ÁM07 (
19'91 3'485'382	878,595,71 878,595	1 279,460	162.760,251	12.477	19'200'10	12.768,51 12.468,51	48.TT1,65	24'202'024	•	950,019,01	260'669'5E	005'1	24,929,924,768	0007
109'220	821,668.1	5' 203' 293	4'301'85	22.000,1	102/29/57	80'922'1	41100 66	645'477'47		667'695'6	841 410'25	0051	077'961'990'571 267'027'565'6E	007 (01/07)
				62'915	18.870.1		¥9'920'L	198'999			1181955	0051	VEC'905'585	o notice
-	•	-	-	5'482'69	99°289	•	682.66	622'269'1	-	-	6/2'/69'1	005'1	E92'9E2'921'1	uosiajjer (
-		-	•	•	5,664.42	•	ZP 199'S	•	284,482.5	-	2,851,585	1.250	2.376,321,135	Lositoet S
10.878	2'890'068'Z	1,306,386	CS7'961'7	50.506.1	19 450 35	5,205,12	14,215,80	31,249,786		12,382,871	159'269'67	005.1	30'300'429'10	Indian River
505,678,1	¥C0'29E'6	100,101,81	1+0'+20'BZ	11.755	211,552,115	19.872,15	2,936,57	156'196		876'291'29	361'324 520'545'606	0091	812,782,877,E71 E28,150,888	Haisborough
		-		ZZ 904	25'105'11		11,304.52	250,900,8	•	4'530'263	15,296,620	005.1	115'616'625'8	Spuende
592'21	63,625	525'843	316,468	145'10	53'115'62	458.45	32,686.20	228,181,51	30,000	8,654,200	25,836,033	005'1	119 699 116 21	ODUELIOH /
•	•	•	•	69'906	01.221.7	•	7,155.10	PP8'82P'9	•	•	¥¥9'92¥'9	005.1	522,761,664,4	Albrock 6
:	-	•		80.178	00'629'9	•	00.672,4	969'010'1	•	•	969'010'1	1,500	2,765,344,783	oopsey o
-		:	:	1,520,16	26'969'1	:	29'969'1 26'929'1	3.024,892			3,024,730	682.0	1'561'586'508	notimeH 1
53'681	207.811	959'9/1	£99'#6Z	16 626	1'698'33	58'262	89:0021	162'189'I			262'189'L	005.1	260,782,781,1	sopeno z
	-			\$6.688	02.717.5		2,717.70	890'528'1	-	•	890'\$49'1	005'1	1 305 130 354	Gitchrist
53'600	000,811	224 L6Z	227'607	75.2E8	4,313.68	485'00	3,821,66	261,068,6	-	•	SE1.062,E	1.500	2,493,141,575	nebabaD (
590'621	896,323	198.424	111.620.1	3,265,60	C9'211'1	234.93	06'29/	195,028,0	•	•	3'990'391	0001	3.602,460.510	nibhash 6
01.971	212 880 242	280,018	728.065.1	55.850,1 22.850,1	35,356.34	00.158	15 004 05 34 146 84	50'652'233 39'192'52	-	CT8.881.C	36,767,251	1,500 1,500	069'926'592'91 £96'956'295'1E	Escambia
778.88 0\$5.867,240	E81,187,E1 E88,TTC	191,552,41	489,E17,8S	96.651,1	87.195.25	00.015,25	87.180,92	660'995'171		626'921'12	192 797 95	005.1	101-166 SID CII	ISAU ISAU ISAU ISAU ISAU ISAU ISAU ISAU
SC 32	094'1	815'25	940'65	C9'019	\$1.859.1	52'96	1,832.00	192'221'1	•		194'441'1	0051	101,008,118	Pixee 1
				614.12	99'601'7	-	99'601'*	168'954'C	•	-	769'952'E	1,500	5'603'864'543	010590
11,023,444	222,711,28	908,087,85	EE0.878.ME1	11.693.1	319,084.22	81.038,148	534'454'08	919'955'805	•	525,228,849	233,583,465	1.500	509,432,962,106	obed
•	•	151'677	899,285	208.02	07'866'6	91.627	45.979.24	121,447,4	•	110,373,1	171,024.8	005'1 051'1	165, 332, 106, 903	Collier Columbia
2'319.081	207'565'11	51230041 012'384	11,060,729	19'601'E	31,202,66	15'909'9	45'101'50	52'255'118	<u>.</u>	250,100,75	22,613,622 27,613,622	005"1	10 10 202 202	
12,80	940,48	M6C,C0	029'621	88.071,1	25.5221.21	27.011	08.140,21	101 111 11	-	102,829,4	906'669'22	0051	616.158.637.81	SUTIS
005'887	2,442,500	641.497	3,206,619	5 492 33	00.875.81	1,289.90	07.886.51	011.184.04		214.949.8	281.714.74	009'1	32,928,558,758	Chartotte
-				29'9L#	29'296'1	•	29.630,1	621,918	•	•	621'919	005.1	621 995	Cathoun
28'969'9	555'621'62	\$15.69.95	626'216'99	85.461,1	544,339.43	68.687,63	09 999 761	012 077 692	•	145,955,424	PE1 965 SEP	005'1	305' 329' 456' 388	Broward
946,788	2,836,740	520,115,8	297,701,8	96.706	11.325.08	8,935.55	60.390.22	227,502,58	•	37,622.950	2,122,810	005.1	207 602 018 69 619 ELL 727 1	Bradford
		-		17 592	26,760.71	50'096'7	21'810'30 51'810'30	5'155'810 29'012'090	:	000'217'9	019 221 2	0051	219 209 C68 CC	Arg
51,558	019'011'7	897,558,5	855'510'2	1,422.80	12 092 92	31 030 7	901812	209,206.5	-		109.202.5	005.1	201,250,992,05	Bakor
518'32	EST.860.1	616'960'1	2/9'161'2	98.281,1	51,338,55	21.818.1	S5,490.38	32,419,760	•	780.184.C	219 006 55	005'1	54 831 143 451	enupey
++1.	-61-	-21	-11-	-01-	-6-		.1.	-9-	-S-	+	- 7 -	-2-	•1•	Destrict
Chances	Allocation	Asocation	spung	919 roq	School FTE	91 4	313	Revenue	Roquiromont	noispildO	Височа	oteA	Value	1
oldigita ol	rcı	003d	rci	rcı	nament) eksenter	Charter	Argno	rci	Factitios	Debt Service	rcı	9001111V	eidausT	1
DISTUDUTION	School	atal2	Celculated		Outlay FTE and	ekiçitlə	lation.)	bottupA	Special	ezonO leunnA	5053-54 F200000	rci	2000) 5053-54	1
Required	Chartor	SCOOL			District Capital	5053-54	District					5053-54		

269,22	974,975	019'622	990'655	82.1481,1	76.174	5320 SUMMIT ACADEMY CHARTER SCHOOL	GRAWORB
291.62	017,241	087,241	291°480	86.481,1	246.07	SIT1 CHARTER SCHOOL OF EXCELLENCE AT DAVIE	GRAWORB
52'17 58'28	506,269 132,914	206.368	265,637	82.481.1 82.481.1	348'34 554'48	5233 ACADEMIC SOLUTIONS ACADEMY A 5263 SOMERSET ACADEMY ELEMENTRY SOUTH CAMPUS	GRAWORB GRAWORB
35,06	110.001	175,402	612'0SE	82.481,1	20.962	5224 SOMERSET ACADEMY KEY CHARTER HIGH SCHOOL	GRAWORB
1E,471	072,178	066'128	1,743,560	82.481,1	88.1741	HOIH AJTAAHD YMADAAT ASAAAAD 1527 SOMERAA TASAAAD 1527 SOMERAAT ACADEMY CHARTER HIGH	DRAWORB
51'EE 52'21	787,88	\$C8,88 \$C8,88	882,155 882,155	82.481,1 82.481,1	26'622	5211 SOMERSET ACADEMY OF DISTINCTION MIDDLE SCHOOL 5215 CHAMPIONSHIP ACADEMY OF DISTINCTION MIDDLE SCHOOL	QRAWOR8 GRAWOR8
52'9'52	128'324	914,821	044'9952	82.481.1	216.76	5209 ASCEND CAREER ACADEMY	GRAWORB
25'41(562,049	521,292	624,224	85.481,1	445'24		GRAWORB
15,85	014,05G 231,05G	231,167	122,858	82.481,1 82.481,1	129.04 2.002	5164 RTLANTIC MONTESSORI CHARTER SCHOOL WEST CAMPUS YATIMAGINE CHARTER SCHOOL AT NORTH LAUDERDALE ELEMENTARY	07AWO78 07AWO78
101,81	965'846	617.87E	122,255	82.481.1	92.926	S161 NORTH BROWARD ACADEMY OF EXCELLENCE	09AW098
153'836	889,013	286'619	273,65S,1	82.481.1	12.81-01	5151 SOMERSET ACADEMY MIDDLE SCHOOL	GRAWORB
139,496	820,885	S18,768 S22,885	1,395,253	82.481.1 82.481.1	56.12 8 88.7711	5141 SOMERSET ACADEMY PEMBROKE PINES HIGH SCHOOL	07AW078 07AW078
33.333	999 991	972'991	333'415	82.481.1	59.185 59.129	5130 GREENTREE PREPARATORY CHARTER SCHOOL	09AW098 09AW098
502'E92	1,266,023	1,266,633	2,532,656	88.481,1	2138.02	5121 CITY/PEMBROKE PINES CHARTER HIGH SCHOOL	OAAWOAB
085,15	505,399	502,500	669'717	85.481,1	320.25		QAAWOA8
156,083 205,263	114,0£8 714,0£8	018,920,1 227,028	1,261,139	82.481,1 82.481,1	rs.eetr E8.4801	5091 CORAL SPRINGS CHARTER SCHOOL 5111 IMAGINE CHARTER SCHOOL AT WESTON	QAAWOA8 QAAWOA8
68'291	£94, 6 87	E#8'691	902'625'1	85.481,1	1333.22	5081 CITY/PEMBROKE PINES CHARTER MIDDLE SCHOOL	CRAWORB
908'97	534'235	574'9'72	221 697	85.481,1	20'960		GRAWORB
298'111 021'92	229'336	016,851	296'811'1 592'192	82.481,1 82.481,1	844'28 515'23	5056 SOMERSET PRAKLAND ACADEMY 5056 SOMERSET PRAKLAND ACADEMY	GRAWOR8 GRAWOR8
E87.AE	E16'EL1	866'821	116'27C	82.481,1	2.593.55	DRAWORB HTUOR SUCH TRANSCORE 12923402 12923400000000000000000000000000000000000	ORAWOR8 ORAWOR8
967,48	453'989	454'164	681,848	1,184.58	20.917	5052 WEST BROWARD ACADEMY	GRAWORB
525'301	785,117	050,751,1	1,422,557	82.481,1 82.481,1	19021	5049 REMAISSANCE CHARTER SCHOOL AT COOPER CITY 5051 PEMBROKE PINES CHARTER ELEMENTARY SCHOOL	DRAWOR8 DRAWOR8
192,171	860,828	051/958	110 221 1	82.481,1	59.2441	5048 RENAISSANCE CHARTER SCHOOL AT UNIVERSITY	09AW098
122,470	135,351	748,518	1,224,998	1'184'28	21.4601	5046 FRANKLIN ACADEMY F	QRAWORB
209'09	523'160	523'583	200'443	85.481.1	451.53	SOMA IMAGINE SCHOOLS PLANTATION CAMPUS	09AW098
142'81 142'81	227,071 820,057	120,409	297,824,1 922,146	82.481.1 82.481.1	12.1621	5038 BROWARD MATH AND SCIENCE SCHOOLS 5041 CENTRAL CHARTER SCHOOL	DRAWOR8 DRAWOR8
126,039	561'082	ST2,08T	787,088.1	89' 1 81'1	29.51E1	5037 FRANKLIN ACADEMY COOPER CITY	GRAWOR8
54'182	153'352	123'384	547,909	85.481,1	82.205	2031 CHARTER SCHOOL OF EXCELLENCE	GRAWORB
109'89 11'6	567,538	767,667	932'502 932'502	85.481,1 82.481,1	18.185	5030 SOMERSET PINES ACADEMY 5030 SOMERSET PINES ACADEMY	07AWO78 07AWO78
56,451	132,256	132,320	945,46	82.481,1	523.35	5028 ACADEMIC ADDITESCORI CARETER SCHOOL	09AW098
152'623	628,144	144,858	169'992'1	95.481,1	62.0301	5024 IMAGINE SCHOOLS AT BROWARD	GRAWO RB
588,811	200'44	969'785	601'691'1 Z01'501	85'781'1 85'781'1	P6'988	5023 REVAIRED STATER SCHOOL AT PLATTION 45	QAAWOA8
90¥'SI C20'95	280,364	010,11	201,421	95'991'1 95'991'1	130.09	2025 BRIDGERREP ACADEMY OF BROWARD K-8	QRAWORB
10,081	280'006	900'222	609'008'I	82.481,1	1520.04	5020 REVAISSANCE CHARTER SCHOOL AT CORAL SPRINGS	GRAWORB
159'633	P491'879	227,848	1,296,641	85.481.1	9.4601	SONS AVANT GARDE ACADEMY K-S BROWARD	GRAWORB
526'69L	269,613	200'022	239'884 1'823'554	85.481,1 82.481,1	29.2621 29.2621	5012 FRANKLIN ACADEMY PEMBROKE PINES 5014 REUNISSANCE CHARTER MIDDLE SCHOOL AT PINES	drawora drawora
060,681	2257'518	598.218	162,128,1	82.481.1	11.5761	2010 ERANKI IN ACADEMY DEMORDEDINES	09AW098
990'97	220.332	220.438	077.044	82.481,1	312.09	5009 ANDREWS HIGH SCHOOL	GRAWORB
33'865	018,681	269'691	202'622	82.481,1 82.481,1	77.985	5007 SOMERSET FREFRENT ON FRANCING SCHOOL MIRAMAR CAMPUS 5007 SOMERSET FREDENY CHARTER HIGH SCHOOL MIRAMAR CAMPUS	QAAWOA8
152.15	\$59.721 \$88.891	627,721 978,621	192,795	82.481,1	332°36 566°54	5006 SOMERSET VILLAGE ACADEMY 5006 SOMERSET PREPARATORY ACADEMY CHARTER HIGH AT NORTH LAUDERDALE	QRAWOR8 QRAWOR8
E19.78	A38,064	438,276	0\$£,878	86.481,1	67.667	SOOR SOMERSET PREPARATORY ACADEMY CHARTER SCHOOL AT NORTH LAUDERDALE	GRAWORB
21'61	088'96	126'96	209'161	86.481,1	26'191	5002 SOMERSET ACADEMY VILLAGE CHARTER MIDDLE SCHOOL	07AWOR8
41,805	720,002 181,271	393,244	344'402 905'545	85'781'1 95'206	\$2.002 \$50,73	6556 PINECREST ACADEMY SPACE COAST 2001 BEN GAMLA CHARTER SCHOOL NORTH CAMPUS 2001 BEN GAMLA CHARTER SCHOOL NORTH CAMPUS	07AV378 07AW078
9950'05	182'1SZ	473,644	725,425	96.36	69'662	6554 PINEAPPLE COVE CLASSICAL ACADEMY AT WEST MELBOURNE	BREVARD
166,931	334'924	629,543	261 '#96	95.706	1062.64	6543 PINEAPPLE COVE CLASSICAL ACADEMY	GREVARD
987,85	106'071	199'126	169'\$1\$ 062'02\$'1	90°206 90°206	1265.03	6541 ODYSSEY PREPARATORY CHARTER ACADEMY 6541 ODYSSEY PREPARATORY CHARTER ACADEMY	ORAV388 ORAV388
53'036	281,211	929.912	858,155	96.706	PT.265.74	YMATTA CONTRACT CONTR	ORAV388
(0 7 '6	460,74	53,105	661.07	96.706	£.17	6521 RIVERSIDE CHARTER HIGH SCHOOL	QAAVARD
545,8 519,85	178,481 217,14	366.023	681,021 1462,088	96.706	84.261 68.718	6511 EDUCATIONAL HORIZONS CHARTER 6515 IMAGINE SCHOOLS AT WEST MELBOURNE 6515 IMAGINE SCHOOLS AT WEST MELBOURNE	09AVARD 09AV398
51,222	211,001	\$19.001 575.87	927,205	96,706	336.946	6509 ROYAL PALM CHARTER SCHOOL BETTA FOLLORITOUS CHARTER SCHOOL	ORAV3R8 ORAV3R8
35,348	172'921	674,SEE	209,220	901'36	12.198	6668 SCULPTOR CHARTER SCHOOL	GAAV3A8
120'021	990'320	1,129,372	1,729,726	95.706	1806.33	6507 ODYSSEY CHARTER SCHOOL	ORAV398
117,226	122,507	181,814	122,963 352,963	907.36 907.36	78.207 885	2711 UNIVERSITY ACADEMY SABL INC 6501 PPLM BRY ACADEMY CHARTER SCHOOL	YA8 Oravərb
21,43	591'725	974,681	140,041	1,422.80	7.00E	2701 RISING LEADERY ACADEMY	YA8
25,665	563,426	£\$6'281	696,124	1,422.60	317.24	801 PALM BAY ELEMENTARY SCHOOL	YAB
96,91	919,18	55,818 25,818	140'188	1'455'80	85.54	761 CHAUTRUQUA CHARTER SCHOOL 782 CENTRAL HIGH SCHOOL	YA8 YA8
16°ZE	361,350 881,85	152,711	142,285 706 58	1422.60	75.881 82.54		YA8 YA8
112'05	121,878	410.325	977'586	1,422,80	19.269	100 HDS YRATUBMELE WEADEMY ELEMENTERY SCHOOL	YAB
76.641	958'912	200'119	1,228,303	1,422.80	863.3	741 NORTH BAY HAVEN CAREER ACADEMY	YAB
71,15 71,15	169'907	311'200	148'321	1,422.60	252'8	711 BAY HAVEN CHARTER MIDDLE SCHOOL 731 NORTH BAY HAVEN CHARTER ACADEMY MIDDLE SCHOOL	YA8 YA8
120,721	661,255	971,524	285,880,1	1422.60	69' 1 91	701 BAY HAVEN CHARTER ACADEMY	YAB
13'44	92'29	£21,73	134'328	98.281,1	113'3	1013 RESILIENCE CHARTER SCHOOL INC	AUHOAJA
69'81	127'86	715,520	587,381	99'591'1 99'591'1	18.781 18.781	1011 ALACHUA LEARNING ACADEMY MIDDLE 1012 BOULWARE SPRINGS CHARTER	ALACHUA
21'21 21'22	290'8E 101'654	666'2C	190'92 512'088	88.281,1 88.281,1	96.181	1003 NORTH CENTRAL FLORIDA PUBLIC CHARTER SCHOOL	ALACHUA
21,81	019'06	697'06	690,161	98.281,1	192.69	991 SIATECH AT GAINESVILLE	ALHOALA
27,21	63,633	225'29	127,160	99.291,1	102.23	981 HEALTHY LEARNING ACADEMY CHARTER SCHOOL	AUHOAUA
21'61	109'59 600'59	£67'59 6EZ'09	120,151	88.281,1 88.281,1	83.101 22.011	957 ALACHUR LEARNING ACADEMY ELEMENTARY 961 MICANOPY ACADEMY	AUHDAJA AUHDAJA
15,06	511,94	86,038	825 021	98,281,1	17.77	956 EXPRESSIONS LEARNING ARTS ACADEMY	ALACHUA
26'11	019'69	015'65	118'150	99.291,1	21.001	922 THE EINSTEIN SCHOOF, INC.	AUHOAJA
33'11	165,554	165,277	330,831	99.591.1	278.98		ALACHUA
19'9Z	185.721	290'221 621'111	529'948 555'444	88.281,1 88.281,1	88.781 214.99	950 THE ONE ROOM SCHOOL HOUSE PROJECT 951 MICANOPY AREA COOPERATIVE SCHOOL, INC.	
<u>55°58:</u>	-9-	-1-	-3-	-2-	-1-	Number School Name	District
Share	Allocation	Allocation	Catculation	Per FTE	aia	School	
rci	רכו	PECO	ICI	noitspollA	Calculation		
	School	ensis		רכו	print		
Charter Charter	Charter	poups		District	5053-54		

2023-24 Local Capital Improvement (LCI) Revenue to Eligible Charter Schools School Summary

Florida Department of Education

			2023-24 Third Calculation	District LCI Allocation	LCI	Charter School State PECO	Maximum Charter School LCI	2023-24 Charter School LCI
	School		FTE	Per FTE	Calculation	Allocation	Allocation	Share'
District 6 BROWARD	Number	School Name HOLLYWOOD ACADEMY OF ARTS & SCIENCE	-1-	-2-	-3-	-4- 674,751	-5- 674,426	-6- 134,685
6 BROWARD		EAGLES NEST CHARTER ACADEMY	320.67	1,184.58	379,859	189,975	189,884	37,977
6 BROWARD 6 BROWARD		EAGLES NEST MIDDLE CHARTER SCHOOL CHAMPIONSHIP ACADEMY OF DISTINCTION AT HOLLYWOOD	56.99 285	1,184.58 1,184.58	67,509 337,605	33,763 168,843	33,746 168,762	6,749 33,752
6 BROWARD		HOLLYWOOD ACADEMY OF ARTS AND SCIENCE MIDDLE SCHOOL	460.47	1,184.58	545,464	272,798	272,666	54,533
6 BROWARD		NORTH BROWARD ACADEMY OF EXCELLENCE MIDDLE	356.91	1,184.58	422,788	211,445	211,343	42,26
6 BROWARD 6 BROWARD		PARAGON ACADEMY OF TECHNOLOGY SOMERSET ACADEMY RIVERSIDE	137.06 421.27	1,184.58 1,184.58	162,359 499,028	81,199 249,574	81,160 249,454	16,23 49,89
6 BROWARD	5388	SOMERSET ACADEMY POMPANO (K-5)	156.17	1,184.58	184,996	92,520	92,476	18,49
6 BROWARD 6 BROWARD		SOMERSET ACADEMY EAST PREPARATORY BEN GAMLA CHARTER SCHOOL SOUTH BROWARD	191.15	1,184.58	226,432 406,406	113,244 203,252	113,188 203,154	22,63
6 BROWARD	5396	SOMERSET ARTS CONSERVATORY	399.01	1,184.58	472,659	236,387	236,272	47,25
5 BROWARD 5 BROWARD		SUNSHINE ELEMENTARY CHARTER SCHOOL SOMERSET ACADEMY ELEMENTARY (MIRAMAR CAMPUS)	210.36 514.75	1,184.58 1,184.58	249,188 609,763	124,624 304,955	124,564 304,808	24,91 60,96
6 BROWARD		SOMERSET ACADEMY HIDDLE (MIRAMAR CAMPUS)	419.15	1,184.58	496,517	248,318	248,199	49,64
6 BROWARD		EVEREST CHARTER SCHOOL	160.56 359.28	1,184.58	190,196 425,596	95,121 212,849	95,075 212,747	19,01 42,54
5 BROWARD 5 BROWARD		BEN GAMLA CHARTER SCHOOL SOMERSET ACADEMY KEY MIDDLE SCHOOL	406.38	1,184.58	481,390	240,753	240,637	48,12
6 BROWARD	5416	INTERNATIONAL SCHOOL OF BROWARD	70.09	1,184.58	83.027	41,524	41,503	8,30
6 BROWARD		SOMERSET ACADEMY RIVERSIDE CHARTER MIDDLE SCHOOL	265.86	1,184.58	314,932	157,504 204,300	157,428 204,202	31,48 40,84
5 BROWARD	5422	CHAMPIONSHIP ACADEMY OF DISTINCTION AT DAVIE	425.48	1,184.58	504,015	252,068	251,947	50.38
6 BROWARD 6 BROWARD		SOMERSET PREPARATORY CHARTER MIDDLE SCHOOL SUNRISE HIGH SCHOOL	336.68 411.33	1,184.58 1,184.58	398,824 487,253	199,460 243,685	199,364 243,568	39,87 48,71
6 BROWARD		INTERNATIONAL STUDIES ACADEMY HIGH SCHOOL	232.72	1,184.58	275,675	137,871	137,804	27,58
6 BROWARD		INTERNATIONAL STUDIES ACADEMY MIDDLE SCHOOL	301.1 843.91	1,184.58 1,184.58	356,677 999,679	178,382 499,960	178,295 499,719	35,65 99,94
6 BROWARD 6 BROWARD		RENAISSANCE CHARTER SCHOOLS AT PINES SOUTH BROWARD MONTESSORI CHARTER SCHOOL	169.57	1,184.58	200,869	100,459	100,410	20,08
5 BROWARD	5791	AVANT GARDE ACADEMY OF BROWARD	1104.22	1,184.58	1,308,037	654,176	653,861	130,77
6 BROWARD 6 BROWARD		PANACEA PREP CHARTER SCHOOL NEW LIFE CHARTER ACADEMY	102.08	1,184.58	<u>120,922</u> 131,749	60,476	<u>60,446</u> 65,859	12,08
5 BROWARD		SUNED HIGH SCHOOL OF NORTH BROWARD	324.15	1,184.58	383,982	192,037	191,945	38,38
B CHARLOTTE		FLORIDA SOUTHWESTERN COLLEGIATE HIGH SCHOOL	334	2,485.99	830,321	197,873 566,306	632,448 1,810,052	126,49 362,01
B CHARLOTTE 9 CITRUS		BABCOCK NEIGHBORHOOD SCHOOL ACADEMY OF ENVIRONMENTAL SCIENCE	955.9	2,485.99 1,170.88	2,376,358 129,640	65,594	64,046	12,80
D CLAY	664	CLAY CHARTER ACADEMY	693.31	686.05	475,645	410,740	64,905	12,98
D CLAY 1 COLLIER		ST JOHNS CLASSICAL ACADEMY RCMA IMMOKALEE COMMUNITY ACADEMY	852.83 349.27	686.05 3,109.61	585,084 1,086,093	505,244 206,919	79,840 879,174	15,96 175,83
1 COLUER		MARCO ISLAND ACADEMY	284.12	3,109.61	883,502	168,322	715,180	143,03
COLLIER		GULF COAST CHARTER ACADEMY SOUTH	689.29	3,109.61	2,143,423 4,615,936	408,358 879,413	1,735,065	347,01 747,30
1 COLLIER 1 COLLIER		MASON CLASSICAL ACADEMY COLLIER CHARTER ACADEMY	584.22	3,109.61 3,109.61	1,816,696	346,111	1,470,585	294,11
1 COLUER	9037	BRIDGEPREP ACADEMY COLLIER	283.3	3,109.61	880,953	167,836	713,117	142.62
1 Collier 2 Columbia		NAPLES CLASSICAL ACADEMY BELMONT ACADEMY	931.9 759.16	3,109.61 508.02	2,897,846 385,668	552,088 449,751	2,345,758	469.15
3 DADE	70	CORAL REEF MONTESSORI ACADEMY CHARTER	511.32	1,593.17	814,620	302,923	511,697	102,33
3 DADE		SUMMERVILLE ADVANTAGE ACADEMY	448.32 1538.97	1,593.17 1,593.17	714,250 2,451,841	265,599 911,736	448,651 1,540,105	89,73 308,02
3 DADE 3 DADE		MATER ACADEMY MIAMI COMMUNITY CHARTER SCHOOL	550.5	1,593.17	877,040	326,134	550,906	110,18
3 DADE	312	MATER GARDENS ACADEMY	806.75	1,593.17	1,285,290	477,945	807,345	161,46
3 DADE 3 DADE	332	SOMERSET ACADEMY SILVER PALMS SOMERSET ACADEMY CHARTER ELEMENTARY SCHOOL (SOUTH HOMESTEAD)	1933.9 575.17	1,593.17 1,593.17	3,081,031 916,344	1,145,706 340,750	1,935,325 575,594	387,06 115,11
3 DADE		PINECREST ACADEMY (SOUTH CAMPUS)	732.95	1,593.17	1,167,714	434.224	733,490	146,69
3 DADE 3 DADE		RENAISSANCE ELEMENTARY CHARTER SCHOOL SOMERSET ACADEMY CONTINENTAL	903.06	1,593.17 1,593.17	1,438,728 69,239	535,002 25,747	903,726 43,492	180,74 8,69
3 DADE		ACADEMIR CHARTER SCHOOL WEST	731.06	1,593.17	1,164,703	433,104	731,599	146,32
3 DADE		ACADEMIR CHARTER SCHOOL EAST AT DORAL	511.93	1,593.17 1,593.17	815,592 123,949	303,284 46,091	512,308 77,858	102,46
3 DADE 3 DADE		ACADEMIR CHARTER SCHOOL EAST MIDDLE ARCHIMEDEAN ACADEMY	77.8 649.33	1,593.17	1.034,493	384,684	649,809	129,96
3 DADE	520	SOMERSET ACADEMY CHARTER	810.86	1,593.17	1,291,838	480,380	811,458	162,29
3 DADE 3 DADE		PINECREST PREPARATORY ACADEMY SOMERSET PREPATORY ACADEMY - HOMESTEAD	523.56 460.83	1,593.17 1,593.17	834,120 734,181	310,174 273,011	523,946 461,170	104,78
3 DADE	950	AVENTURA CITY OF EXCELLENCE SCHOOL	1040.64	1,593.17	1,657,916	616,509	1.041,407	208,28
3 DADE		TRUE NORTH CLASSICAL ACADEMY	1360.99	1,593.17 1,593.17	2,168,288	802,746 565.507	1,365,542 955,253	273,10 191,05
3 DADE		THE CHARTER SCHOOL AT WATERSTONE HIGHLY INQUISITIVE AND VERSATILE EDUCATION (HIVE) PREPARATORY SCHOOL	<u>954.55</u> 850.81	1,593.17	1,355,485	504,048	851,437	170,28
3 DADE	1015	ACADEMIR CHARTER SCHOOL PREPARATORY	1156.07	1,593.17	1,841,816	684,894	1,156,922	231,38
3 DADE 3 DADE		MATER ACADEMY OF INTERNATIONAL STUDIES TRUE NORTH CLASSICAL ACADEMY EAST	450.79 225.03	1,593.17 1,593.17	718,185 358,511	267,063 129,743	451,122 228,768	90,22 45,75
3 DADE	1020	YOUTH CO-OP CHARTER SCHOOL	775.43	1,593.17	1,235,392	459,390	776,002	155,20
3 DADE		TRUE NORTH CLASSICAL ACADEMY KENDALL SOUTH FLORIDA AUTISM CHARTER SCHOOL INC	286.45 286.85	1,593.17 1,593.17	456,364 457,001	169,702 169,939	286,662 287,062	57,33 57,41
3 DADE 3 DADE	2002	ACADEMIR PREPARATORY ACADEMY	388.83	1,593.17	619,472	230,356	389,116	77,82
3 DADE	2003	BRIDGEPREP ACADEMY SOUTH	454.48	1,593.17	724,064	269,249	454,815	90,96
3 DADE 3 DADE		ISAAC: INTEGRATED SCIENCE AND ASIAN CULTURE ACADEMY SOMERSET ACADEMY ELEMENTARY SCHOOL SOUTH MIAMI CAMPUS	268.76	1,593.17 1,593.17	428,180 805,988	159,222 300,085	268,958 506,903	53,79 101,38
3 DADE	2012	SOMERSET ARTS ACADEMY	416.62	1,593.17	663,746	246,819	416,927	83,38
3 DADE 3 DADE		BRIDGEPREP ACADEMY OF GREATER MIAMI MATER ACADEMY MIAMI	435.15 695.69	1,593.17 1,593.17	693,268 1,108,352	257,797 412,150	435,471 696,202	87,09 139,24
3 DADE	2031	PINECREST GLADES ACADEMY	962.57	1,593.17	1,533,538	570,258	963,280	192,65
3 DADE		ACADEMIR MIDDLE SCHOOL OF MATH AND SCIENCE THEODORE R. AND THELMA A. GIBSON CHARTER SCHOOL	150.15 156.5	1,593.17 1,593.17	239,214 249,331	88,954 92,716	150,260 155,615	30,05
3 DADE 3 DADE		THEODORE R. AND THELMA A. GIBSUN CHARTER SCHOOL KIPP MIAMI-LIBERTY CITY	1236.31	1,593.17	1,969,652	732,431	1.237,221	247.44
3 DADE	3000	MATER INTERNATIONAL ACADEMY	201.02	1,593.17	320,259	119,091	201,168	40.23
3 DADE		DOWNTOWN DORAL CHARTER ELEMENTARY SCHOOL	1094.78	1,593.17 1,593.17	1,744,171 579,468	<u>648,584</u> 215,480	1,095,587 363,988	219,11
3 DADE 3 DADE		DORAL INTERNATIONAL ACADEMY OF MATH AND SCIENCE	690.49	1,593.17	1,100,068	409.069	690,999	138,20
3 DADE	3029	DORAL ACADEMY OF TECHNOLOGY	281.19	1,593.17	447,983	166.586	281,397	56,27
3 DADE 3 DADE		DORAL ACADEMY PALM GLADES PREPARATORY ACADEMY	1101.97 227.37	1,593.17 1,593.17	1,755,626 362,239	652,843 134,701	1,102,783 227,538	220,55
3 DADE	3033	SOMERSET OAKS ACADEMY	632.41	1,593.17	1,007,537	374,660	632,877	126,57
3 DADE	3034	BRIDGEPREP ACADEMY OF VILLAGE GREEN	893.04	1,593.17	1,422,765	529.066 444,508	893,699 750 863	178,74
3 DADE 3 DADE		BRIDGEPREP ACADEMY OF VILLAGE GREEN MIDDLE HIGH SCHOOL MATER ACADEMY EAST CHARTER	750.31 559.62	1,593.17 1,593.17	1,195,371 891,570	444,508 331,537	750,863	150,1
3 DADE	3600	DOWNTOWN MIAMI CHARTER SCHOOL	426.1	1,593.17	678,850	252,436	426,414	85,2
3 DADE		KEYS GATE CHARTER SCHOOL MIAMI CHILDREN'S MUSEUM CHARTER SCHOOL	1981.67 313.23	1,593.17 1,593.17	3,157,137 499,029	1,174,006 185,568	1,983,131 313,461	396,6 62,6

			2023-24 Third Calculation	District LCI Allocation	LCI	Charter School State PECO	Maximum Charter School LCt	2023-24 Charter School LCI
	School		FTE	Per FTE	Calculation	Allocation	Allocation	Share
District 13 DADE	Number School Name 4010 MATER ACADEMY BAY EL	MENTARY	967.99	-2- 1,593,17	-3- 1,542,173	-4- 573,469	-5- 968,704	- 6 - 193,741
13 DADE	4012 SOMERSET ACADEMY SIL	VER PALMS AT PRINCETON	587.46	1,593.17	935,924	348.031	587,893	117,579
13 DADE 13 DADE	4037 SOMERSET ACADEMY KE 4050 BRIDGEPREP ACADEMY C		230.65 670.03	1,593.17 1,593.17	367,465 1,067,472	136,645 396,948	230,820 670,524	46,164 134,105
13 DADE	4070 EARLY BEGINNINGS ACAD	EMY	112.39	1,593.17	179,056	66,584	112,472	22,494
13 DADE 13 DADE	4242 ACADEMIR CHARTER SCH 5002 SOMERSET PREPARATOR		433.14 435.61	1,593.17 1,593.17	690,066 694,001	256,606 258,070	433,460 435,931	86,692 87.186
13 DADE	5004 PINECREST NORTH PREP	ARATORY (FONTA!NEBLEAU CAMPUS)	758.88	1,593.17	1,209,025	449,585	759,440	151,888
13 DADE 13 DADE	5006 EVERGLADES PREPARAT 5007 LINCOLN-MARTI CHARTER		394.39 182.86	1,593.17 1,593.17	628,330 291,327	233,650 108,332	394,680 182,995	78,936 36,599
13 DADE	5008 SOMERSET GABLES ACAL		472.47	1,593.17	752,725	279,907	472,818	94,564
13 DADE	5015 SOMERSET PALMS ACAD		315.94	1,593.17	503,346	187,173	316,173 196,255	63,235
13 DADE 13 DADE	5020 BRIDGEPREP ACADEMY II 5022 BEN GAMLA CHARTER SC		196.11 225.9	1,593.17 1,593.17	312,437 359,897	116,182 133,831	226,066	39,251 45,213
13 DADE		SCHOOL LITTLE HAVANA CAMPUS	643.19	1,593.17	1,024,711	381,047	643,664	128,733
13 DADE 13 DADE	5028 BRIDGEPREP ACADEMY C 5029 EXCELSIOR LANGUAGE A		1141.89 307.8	1,593.17 1,593.17	1,819,225 490,378	676,493 182,351	1,142,732 308,027	228,546 61,605
13 DADE	5032 EXCELSIOR CHARTER AC	ADEMY	422.64	1,593.17	673,337	250,386	422,951	84,590
13 DADE 13 DADE	5043 LINCOLN-MARTI SCHOOLS 5045 MATER GROVE ACADEMY	INTERNATIONAL CAMPUS	253.5 1238.76	1,593.17 1,593.17	403,869 1,973,555	150,182 733,882	253,687 1,239,673	50,737 247,935
13 DADE	5047 MATER ACADEMY MIAMI E		597.66	1,593.17	952,174	354,073	598,101	119,620
13 DADE 13 DADE	5048 PINECREST ACADEMY (NO 5049 PINECREST COVE ACADE		429.1 934.71	1,593.17 1,593.17	683,629 1,489,152	254,213 553,753	429,416 935,399	85,883 187,080
13 DADE	5052 MATER PREPARATORY HI	GH SCHOOL @ LAKES	183.11	1,593.17	291,725	108,480	183,245	36,649
13 DADE 13 DADE	5057 MATER PREPARATORY MI 5062 SOMERSET ACADEMY BA		254.8	1,593.17	405,940	150,952	254,988 444,028	50,998 88,606
13 DADE	5219 DORAL ACADEMY NORTH		116.73	1,593.17	185,971	66,352	119,619	23,924
13 DADE	5384 IMATER ACADEMY		638.68 276.06	1,593.17 1,593.17	1.017.526 439.811	378,375 163,547	639,151 276,264	127,830 55,253
13 DADE 13 DADE	5410 ALPHA CHARTER OF EXCI 5412 MATER BRICKELL ACADE		432.71	1,593.17	669,381	256,352	433,029	86,606
13 DADE	5416 MATER ACADEMY KIWANI	3	201.26	1,593.17	320,641	119,233	201,408	40,282
13 DADE 13 DADE	5417 MIAMI TECH AT MATER IN 5422 MATER BRICKELL ACADEI		15.65 356.52	1,593.17 1,593.17	24,933 567,997	9.272 211.214	15.661 356,783	3,132 71,357
13 DADE	5555 MATER ACADEMY BISCAY	NE MIDDLE SCHOOL	384.88	1,593.17	613,179	226,309	386,870	77,374
13 DADE 13 DADE	5556 MATER ACADEMY BISCAY 5836 SOUTH PREP SCHOLARS		221.73	1,593.17	353,254 128,601	131,520 47,821	221,734 80,780	44,347
13 DADE	6004 SOMERSET ACADEMY CH		519.36	1,593.17	827,429	307,686	519,743	103,949
13 DADE 13 DADE	6006 ARCHIMEDEAN MIDDLE C 6012 MATER ACADEMY CHARTI		329.91 1201.5	1,593.17 1,593.17	525,603 1,914,194	195,449 711,808	330,154 1,202,386	66,031 240,477
13 DADE		ARTER MIDDLE SCHOOL (SOUTH HOMESTEAD)	500.21	1,593.17		296,341	500,579	100,116
13 DADE	6014 IMATER ACADEMY MIDDLI		789.55	1,593.17	1,257,887	467,755	790,132	158,026
13 DADE 13 DADE	6015 SPORTS LEADERSHIP AND 6022 PINECREST ACADEMY CH) MANAGEMENT (SLAM) CHARTER MIDDLE SCHOOL ARTER MIDDLE SCHOOL	945.25 491.36	1,593.17 1,593.17	1,505,944 782,820	559,997 291,098	945,947 491,722	189,189 98,344
13 DADE	6024 SPORTS LEADERSHIP ANI) MANAGEMENT (SLAM) MIDDLE SCHOOL - NORTH CAMPU		1,593.17	368,389	136,988	231,401	46,280
13 DADE 13 DADE	6028 RENAISSANCE MIDDLE CH 6030 DORAL ACADEMY CHARTI		444.95	1,593.17	708,881	263,603	445.278 1,420,016	89,056 284,003
13 DADE	6032 MATER ACADEMY BAY MIL	DLE SCHOOL	488.82	1,593.17	778,773	289,593	489,180	97,836
13 DADE 13 DADE	6033 MATER ACADEMY LAKES 6034 BEACON COLLEGE PREP		883.9 451.69	1,593.17 1,593.17	1,408,203 719,619	523,651 266,595	884,552 453,024	176,910 90,605
13 DADE	6040 DOCTORS CHARTER SCH	DOL OF MIAMI SHORES	584.96	1,593.17	931,941	346,549	585,392	117,078
13 DADE 13 DADE	6045 INTERNATIONAL STUDIES 6046 SOMERSET PREP ACADE		319.23 380.97	1,593.17 1,593.17	508,588 606,950	189,122 225,699	319,466 381,251	63,893 76,250
13 DADE	6047 MATER INTERNATIONAL P		169.99	1,593.17	270,823	100,708	170,115	34,023
13 DADE	6048 MIAMI COMMUNITY CHAR		318.22 182.47	1,593.17 1,593.17	506,979 290,706	188,524 108,101	318,455 182,605	63,691 36,521
13 DADE 13 DADE	6057 PHOENIX ACADEMY OF EX	ARTER MIDDLE SCHOOL SOUTH MIAMI CAMPUS	25.08	1,593.17	39,957	14,858	25,099	5,020
13 DADE	6082 ACADEMIR CHARTER SCH		294.26	1,593.17	468,806	174,329	294,477	58,895
13 DADE 13 DADE	6083 JUST ARTS AND MANAGE 6093 ACADEMY FOR INNOVATIV	MENT CHARTER MIDDLE SCHOOL	282.25 964.02	1,593.17 1,593.17	449,672 1,535,848	167,214 188,394	282,458 1,347,454	56,492 269,491
13 DADE	6099 PHOENIX ACADEMY OF E	CELLENCE	19.72	1,593.17	31,417	11,683	19,734	3,947
13 DADE 13 DADE	6128 SOMERSET ACADEMY BA 7007 INTERNATIONAL STUDIES		242.69 359.55	1,593.17 1,593.17	386,646 572,824	143,778 213,009	242,868 359,815	48,574 71,963
13 DADE	7009 DORAL PERFORMING ART	S & ENTERTAINMENT ACADEMY	382.31	1,593.17	609,085	226,493	382,592	76,518
13 DADE		S & ENTERTAINMENT ACADEMY	314.53 306.36	1,593.17 1,593.17	501,100 488,084	186,338 181,498	314,762 306,586	62,952 61,317
13 DADE 13 DADE		MIAMI CHARTER HIGH SCHOOL	994.26	1,593.17	1,584,025	589,032	994,993	198,999
13 DADE	7018 MATER ACADEMY LAKES	KIGH SCHOOL	1194.87	1,593.17	1,903,631	707,880 1,220,026	1,195,751 2,060,869	239,150 412,174
13 DADE 13 DADE	7020 DORAL ACADEMY CHART 7026 DON SOFFER AVENTURA		2059.35 816.69	1,593.17 1,593.17	3,280,895 1,301,126	483,834	2,060,869	163,458
13 DADE	7027 PINECREST GLADES PREI	PARATORY ACADEMY MIDDLE HIGH SCHOOL	1136.33	1,593.17	1,810,367	673,199	1,137,168	227,434
13 DADE 13 DADE	7032 PALM GLADES PREPARAT 7034 SOMERSET ACADEMY CH	ORY ACADEMY HIGH SCHOOL ARTER HIGH SCHOOL (SOUTH HOMESTEAD)	248.37 511.07	1,593.17 1,593.17	395,696 814,221	147,143 302,775	248,553 511,446	49,711 102,289
13 DADE	7037 MATER ACADEMY EAST C	HARTER HIGH SCHOOL	20.06	1,593.17	31,959	11,884	20,075	4,015
13 DADE 13 DADE	7042 SOMERSET ACADEMY CH 7044 DOWNTOWN DORAL CHA		973.02 1462.51	1,593.17 1,593.17	1,550,186 2,330,027	576,449 866,439	973,737 1,463,588	194,747 292,718
13 DADE	7050 KEYS GATE CHARTER HIG	H SCHOOL	730.84	1,593.17	1,164,352	432,974	731,378	146,276
13 DADE 13 DADE	7053 PINECREST PREPARATOR 7058 MIAMI COMMUNITY CHAR	Y ACADEMY CHARTER HIGH SCHOOL	536.65 229.94	1,593.17 1,593.17	854,975 366,334	317,929 138,224	537,046 230,110	107,409 46,022
13 DADE	7059 MIAMI ARTS CHARTER		1040.57	1,593.17	1,657,805	616,468	1,041,337	208,267
13 DADE 13 DADE	7060 EVERGLADES PREPARAT		<u>529.94</u> 349.03	1,593.17	844,285	313,954 208,777	530,331 349,287	106,066 69,857
13 DADE	7062 C. G. BETHEL HIGH SCHO 7065 CHAMBERS HIGH SCHOO		357.01	1,593.17	568,778	211,504	357,274	71.455
13 DADE	7067 GREEN SPRINGS HIGH SC	HOOL	552.39	1,593.17	880,051 672,366	327,254	552,797 422,342	110,559
13 DADE 13 DADE	7068 NORTH GARDENS HIGH S 7069 NORTH PARK HIGH SCHO		422.03 559.56	1,593.17 1,593.17	672,366 891,474	250,024 331,502	422,342 559,972	84,468 111,994
13 DADE	7070 YOUTH CO-OP PREPARAT	ORY HIGH SCHOOL	249.15	1,593.17	396,938	147,605	249,333	49,867
13 DADE	7078 SOMERSET ACADEMY HIC 7079 PINECREST NORTH PREP		194.51 100.57	1,593.17 1,593.17	309,887 160,225	115,524 59,836	194,363 100,389	38,873 20,078
	7080 CHARTER HIGH SCHOOL	OF THE AMERICAS	146.94	1,593.17	234,100	87,052	147,048	29,410
13 DADE 13 DADE		CADEMY HIGH SCHOOL	1017.86	1,593.17	1,621,624	603,014 152,705	1,018,610 257,950	203,722 51,590
13 DADE 13 DADE 13 DADE	7090 IMATER PREPARATORY A		267 72					000,000
13 DADE 13 DADE 13 DADE 13 DADE 13 DADE 13 DADE	7108 SLAM ACADEMY HIGH SC 7120 MATER ACADEMY BAY HIG	HOOL NORTH CAMPUS SH SCHOOL	257.76 358.91	1,593,17 1,593,17	410,655 571,805	212,630	359,175	71,835
13 DADE 13 DADE 13 DADE 13 DADE 13 DADE 13 DADE 13 DADE	7108 SLAM ACADEMY HIGH SC 7120 MATER ACADEMY BAY HI 7144 CHARTER HIGH SCHOOL	HOOL NORTH CAMPUS BH SCHOOL DF THE AMERICAS (FLORIDA CITY CAMPUS)	358.91 34.89	1,593.17 1,593.17	571,805 55,586	212,630 20,670	359,175 34,916	6,983
13 DADE 13 DADE 13 DADE 13 DADE 13 DADE 13 DADE	7108 SLAM ACADEMY HIGH SC 7120 MATER ACADEMY BAY HI 7144 CHARTER HIGH SCHOOL 7160 MATER ACADEMY CHART	HOOL NORTH CAMPUS HI SCHOOL DF THE AMERICAS (FLORIDA CITY CAMPUS) ER HIGH Y ACADEMY HIGH SCHOOL HOMESTEAD	358.91	1,593.17	571,805	212,630	359,175	

		2023-24 Third	District LCI		Charter School State	Maximum Charter School	2023-24 Charter School
-		Calculation	Allocation	LCI Calculation	PECO Allocation	LCt Allocation	LCI Share'
District Nu	ool nber School Name	FTE -1-	Per FTE -2-	-3-	Allocation -4-	-5-	-6-
13 DADE	7516 KENDALL GREENS HIGH SCHOOL	518.46	1,593.17	822,809	305,968	516,841	103,36 35
5 DIXIE 6 DUVAL	43 KINDER CUB SCHOOL INC 471 LONE STAR HIGH SCHOOL	96.75 238.01	610.63 1,138.98	59,078 271,089	57,318 141,005	1,760 130,084	26,01
6 DUVAL	531 DUVAL MYCROSCHOOL OF INTEGRATED ACADEMICS AND TECHNOLOGIES	209.93	1,138.98	239,106	124,369	114,737	22,94
6 DUVAL	1021 SCHOOL OF SUCCESS ACADEMY-SOS	137.75	1,138.98	156,894	81,608	75,286 80,889	15,05
6 DUVAL	1131 WAYMAN ACADEMY OF THE ARTS 1201 RIVER CITY SCIENCE ACADEMY	961.49	1,138.98 1,138.98	168,569 1,095,118	87,680 569,618	525,500	105,10
6 DUVAL	1211 TIGER ACADEMY	203.11	1,138.98	231,338	120,329	111,009	22,20
6 DUVAL	1221 GLOBAL OUTREACH CHARTER ACADEMY	1080.99	1,138.98	1,231,226	640,414	590,812	118,16
I6 DUVAL	1231 DUVAL CHARTER SCHOLARS ACADEMY 1251 SOMERSET ACADEMY-ELEMENTARY, EAGLE CAMPUS	<u>467.35</u> 373.9	1,138.98	532,302 425,865	276,873	255,429 204,354	<u>51,08</u> 40,87
6 DUVAL	1261 SOMERSET ACADEMY-MIDDLE, EAGLE CAMPUS	181.92	1,138.98	207,203	107,775	99,428	19,88
6 DUVAL	1271 KIPP IMPACT K-8	910.88	1,138.98	1.037.474	539,635	497,839	99,56
6 DUVAL 6 DUVAL	1291 RIVER CITY SCIENCE ELEMENTARY ACADEMY 1311 DUVAL CHARTER HIGH SCHOOL AT BAYMEADOWS	583 656.37	1,138.98 1,138.98	664,025 747,592	345,388 388,855	318,637 358,737	63,72 71,74
I6 DUVAL	1321 DUVAL CHARTER AT BAYMEADOWS	1331.69	1,138.98	1,516,768	788,937	727,831	145,56
16 DUVAL	1371 SEACOAST CHARTER ACADEMY	428.76	1,138.98	488.349	254.011	234,338	46,86
IG DUVAL IG DUVAL	5381 SAN JOSE PREP 5401 SEASIDE COMMUNITY CHARTER SCHOOL	626.62 519,29	1,138.98 1,138.98	713,708 591,461	371,230 307,644	342,478 283,817	68,49 56,76
IS DUVAL	5411 DUVAL CHARTER SCHOOL AT WESTSIDE	963.4	1,138.98	1,097,293	570,750	526,543	105,30
I6 DUVAL	5421 BISCAYNE HIGH SCHOOL	190.63	1,138.98	217,124	112,935	104,189	20,83
6 DUVAL	5441 RIVER CITY SCIENCE ACADEMY INNOVATION SCHOOL	802.44	1,138.98	913,963	475,392	438,571	87,71
6 DUVAL 6 DUVAL	5511 DUVAL CHARTER SCHOOL AT MANDARIN 5551 DUVAL CHARTER SCHOOL AT SOUTHSIDE	869.19 1012.37	1,138.98 1,138.98	989,990 1,153,069	514,937 599,761	475,053 553,308	95,01 110,66
6 DUVAL	5591 DUVAL CHARTER SCHOOL AT FLAGLER CENTER	950.02	1,138.98	1,082,054	562,823	519,231	103,84
6 DUVAL	5601 RIVER CITY SCIENCE ACADEMY AT MANDARIN	899.61	1,138.98	1,024,638	532,958	491,680	98,33
6 DUVAL 6 DUVAL	5611 BRIDGEPREP ACADEMY 5621 DUVAL CHARTER SCHOOL AT COASTAL	489.25 1099.03	1,138.98 1,138.98	557,246 1,251,773	289,848 651,101	267,398 600,672	53,48 120,13
6 DUVAL	5631 SEASIDE CHARTER K-8 SCHOOL	490.32	1,138.98	558,465	290,482	267,983	53,59
6 DUVAL	5641 RIVER CITY SCIENCE ACADEMY SOUTHEAST	464.03	1,138.98	528,521	274,907	253,614	50,72
6 DUVAL 6 DUVAL	5711 SEASIDE CHARTER NORTH CAMPUS	419.85 561.09	1,138.98	478,201 639,070	248,733 332,408	229,468 306,662	45.89 61,33
6 DUVAL	5731 GLOBAL OUTREACH CHARTER ACADEMY HIGH SCHOOL 5761 SAN JOSE PRIMARY SCHOOL	255.06	1,138.98 1,138.98	290,508	332,408	139,402	27,88
6 DUVAL	5801 CORNERSTONE CLASSICAL ACADEMY	852.53	1,138.98	971,015	505.067	465,948	93,19
6 DUVAL	5831 JACKSONVILLE CLASSICAL ACADEMY	756.1	1,138.98	861,183	447,938	413,245	82,64
6 DUVAL 6 DUVAL	5841 RIVER CITY SCIENCE ACADEMY INTRACOASTAL 5861 SAN JOSE EARLY COLLEGE AT CECIL	816.84 227.59	1,138.98 1,138.98	930,364 259,220	483,923 136,852	446,441 122,368	89,26 24,47
6 DUVAL	5901 KIPP JACKSONVILLE HIGH SCHOOL	1219.34	1,138.98	1,388,804	722,377	666.427	133,28
6 DUVAL	5931 IDEA BASSET	811.89	1,138.98	924,726	480,990	443,736	88.74
6 DUVAL 6 DUVAL		210.57	1,138.98	<u>878,040</u> 239,835	456,706	421,334	<u>84,26</u> 23.01
6 DUVAL	5961 JACKSONVILLE CLASSICAL ACADEMY EAST 5971 GLOBAL OUTREACH ACADEMY INTERCOASTAL	314.03	1,138.98	239,635	181,284	176,390	35,27
6 DUVAL	5981 KIPP IMPACT ACADEMY	704.86	1,138.98	802,821	417,582	385,239	77.04
7 ESCAMBIA	2093 BEULAH ACADEMY OF SCIENCE	304.46	1,039.55	316,501	160,372	136,129	27,22
7 ESCAMBIA	2104 JACKIE HARRIS PREPARATORY ACADEMY 2108 PENSACOLA BEACH ELEMENTARY SCHOOL, INC	187.79 103.25	1.039.55	195,217 107,334	111,253 61,169	83,964 46,165	16,79
7 ESCAMBIA	2121 CAPSTONE ACADEMY	26	1,039.55	27,028	15,403	11,625	2,32
18 FLAGLER	61 IMAGINE SCHOOL AT TOWN CENTER	861	1,615.13	1,390,627	510,085	880,542	176,10
9 FRANKLIN	9009 APALACHICOLA BAY CHARTER SCHOOL	334.93 492	3,265.60 832.27	1,093,747 409,477	198,424 291,477	895,323 118,000	179,06
20 GADSDEN 22 GLADES	9104 CROSSROAD ACADEMY	297.85	989.97	294,863	176,456	118,407	23,60
27 HERNANDO	4422 GULF COAST ACADEMY OF SCIENCE AND TECHNOLOGY	217.08	742.10	161,095	128,605	32,490	6,49
7 HERNANDO	4461 BROOKSVILLE ENGINEERING, SCIENCE AND TECHNOLOGY (B.E.S.T.) ACADEMY	97.11	742.10	72.065	57,531	14,534	2,90
27 HERNANDO 29 HILLSBOROUGH	4522 GULF COAST ELEMENTARY SCHOOL 6606 TERRACE COMMUNITY MIDDLE SCHOOL	112.26 655.96	742.10 889.02	83,308 583,162	66,507 388,612	16,801 194,550	3,36 38,91
29 HILLSBOROUGH	6608 VILLAGE OF EXCELLENCE ACADEMY	107.59	889.02	95,650	63,740	31,910	6,38
9 HILLSBOROUGH	6609 PEPIN ACADEMIES	821.9	889.02	730,686	486,920	243,766	48,75
9 HILLSBOROUGH	6613 LEARNING GATE COMMUNITY SCHOOL 6615 RCMA WIMAUMA COMMUNITY ACADEMY	766.06	889.02 889.02	681,043 326,866	453,839 217,820	227,204 109,046	45.44
9 HILLSBOROUGH	6620 HORIZON CHARTER SCHOOL OF TAMPA	311.26	889.02	276,716	184,401	92,315	18,46
9 HILLSBOROUGH	6621 LEGACY PREPARATORY ACADEMY	126.6	689.02	112,550	75,002	37,548	7,51
9 HILLSBOROUGH	6623 WALTON ACADEMY	149.41	689.02 889.07	132,828	88,515 532,970	44,313	8,86
9 HILLSBOROUGH	6624 TRINITY SCHOOL FOR CHILDREN 6625 LITERACY/LEADERSHIP/TECHNOLOGY ACADEMY	899.46 465.4	889.02 889.02	799.638 413,750	532,870 275,718	266,768 138,032	53,35 27,60
9 HILLSBOROUGH	6626 KIDS COMMUNITY COLLEGE RIVERVIEW SOUTH	583.01	889.02	518,308	345,394	172,914	34,58
9 HILLSBOROUGH	6634 BROOKS DEBARTOLO COLLEGIATE HIGH SCHOOL	567.71	689.02	504,706	336,330	168,376	33,67
9 HILLSBOROUGH	6637 INDEPENDENCE ACADEMY 6639 FLORIDA AUTISM CHARTER SCHOOL OF EXCELLENCE	903.46 153.12	689.02 689.02	803,194 136,127	535,239 90,713	267,955 45,414	53,59 9,08
9 HILLSBOROUGH	6644 ADVANTAGE ACADEMY OF HILLSBOROUGH	458.01	689.02	407,180	271,340	135,840	27,16
9 HILLSBOROUGH	6646 SEMINOLE HEIGHTS CHARTER HIGH SCHOOL	317.88	889.02	282,602	188,323	94,279	18,8
9 HILLSBOROUGH 9 HILLSBOROUGH	6649 VALRICO LAKE ADVANTAGE ACADEMY	923.93 331.15	889.02 689.02	821,392 294,399	547,366 196,184	274,026 98,215	54,8 19,6
9 HILLSBOROUGH	6652 CHANNELSIDE ACADEMY OF MATH AND SCIENCE 6653 WOODMONT CHARTER SCHOOL	691.44	889.02	294,399 614,704	409,632	205,072	41,0
9 HILLSBOROUGH	6655 LUTZ PREPARATORY SCHOOL	779.73	889.02	693, 196	461,938	231,258	46,2
9 HILLSBOROUGH	6656 PIVOT CHARTER SCHOOL	232.3	889.02 889.02	206.519	137.622	68,897	13,7
9 HILLSBOROUGH 9 HILLSBOROUGH	6657 NEW SPRINGS SCHOOLS 6658 WINTHROP CHARTER SCHOOL	383.71 1339.95	689.02 689.02	341,126 1,191,242	793,830	113,804 397,412	79,4
9 HILLSBOROUGH	6659 WEST UNIVERSITY CHARTER HIGH	449.08	689.02	399,241	266.050	133,191	26,6
9 HILLSBOROUGH	6661 BELL CREEK ACADEMY	1111.35	889.02	988,012	658,400	329.612	65,9
9 HILLSBOROUGH 9 HILLSBOROUGH	6662 HENDERSON HAMMOCK CHARTER SCHOOL 6667 KIDS COMMUNITY COLLEGE CHARTER SCHOOL SOUTHEAST HILLSBOROUGH COUNTY	<u>1152.06</u> 443.59	889.02 889.02	1,024,204 394,360	682,518 262,797	341,686 131,563	68,3
9 HILLSBOROUGH	6671 HILLSBOROUGH ACADEMY OF MATH AND SCIENCE	837.06	889.02	744,163	495,902	248,261	49.6
9 HILLSBOROUGH	7672 FOCUS ACADEMY	131.06	889.02	116,515	77,644	38,871	7,7
9 HILLSBOROUGH	7675 BRIDGEPREP ACADEMY OF TAMPA 7681 SUNLAKE ACADEMY OF MATH AND SCIENCES	337.54 963.9	889.02 889.02	300,080 856,926	199,970 571,046	100,110 285,880	20,03 57,13
9 HILLSBOROUGH	781 SONLAKE ACADEMY OF MATH AND SCIENCES	20.12	889.02	17,887	11,849	285,880	1,2
9 HILLSBOROUGH	7791 EXCELSIOR PREP CHARTER SCHOOL	226.8	889.02	201,630	134,364	67,266	13,4
9 HILLSBOROUGH	7803 CREEKSIDE CHARTER ACADEMY	770.4	889.02	684,901	456,410	228,491	45,6
19 HILLSBOROUGH	7805 WATERSET CHARTER SCHOOL 7806 SOUTHSHORE CHARTER ACADEMY	1160.62 1167.17	889.02 889.02	1,031,814 1,037,637	687,589 691,470	344,225 346,167	68,8 69,2
9 HILLSBOROUGH	7811 VICTORY CHARTER SCHOOL TAMPA	215.81	889.02	191,859	127,853	64,006	12,8
9 HILLSBOROUGH	7812 BRIDGEPREP ACADEMY OF RIVERVIEW	1196.25	889.02	1,063,490	708,698	354,792	70,9
9 HILLSBOROUGH	7814 PLATO ACADEMY TAMPA CHARTER SCHOOL	386.9	889.02	343,962	229,212	114,750	22,9
9 HILLSBOROUGH	7815 SPORTS LEADERSHIP AND MANAGEMENT ACADEMY (TAMPA) 7817 BIG BEND ACADEMY OF MATH AND SCIENCE	522.01 18.81	889.02 889.02	464.077 16.722	309.256 11,144	154,821 5,578	30,9 1,1
9 HILLSBOROUGH	7818 RIVERVIEW ACADEMY OF MATH AND SCIENCE	1118.07	889.02	993,987	662,381	331,606	66.3
29 HILLSBOROUGH	7822 THE COLLABORATORY PREPARATORY ACADEMY	48.98	889.02	43,544	29,017	14,527	2,9

r.

		2023-24 Third	District LCI		School State	Charter School	Charter School
		Calculation	Allocation	LCI	PECO	LCI	LCI
	chool	FTE	Per FTE	Calculation	Allocation	Allocation	Share'
9 HILLSBOROUGH	7823 NAVIGATOR ACADEMY OF LEADERSHIP VALRICO	-1- 920.92	-2- 889.02	-3- 818,716	-4- 545,583	-5- 273,133	-6- 54,627
9 HILLSBOROUGH	7824 SLAM ACADEMY TAMPA ELEMENTARY	219.93	889.02	195,522	129,150	66,372	13,274
9 HILLSBOROUGH	7825 SLAM ACADEMY AT APOLLO BEACH	1235.08	889.02	1,098,011	731,702	366,309	73,262
9 HILLSBOROUGH 9 HILLSBOROUGH	7827 DR KIRAN C PATEL HIGH SCHOOL 7828 BRIDGEPREP ACADEMY OF ADVANCED STUDIES OF HILLSBOROUGH	625.26 57.9	889.02 889.02	555,869 51,474	370,425 34,302	185,444 17,172	37,089 3,434
9 HILLSBOROUGH	7831 LITERACY LEADERSHIP TECHNOLOGY ACADEMY SOUTH BAY	801.81	889.02	712,825	475,019	237,806	47,561
9 HILLSBOROUGH	7832 WINTHROP COLLEGE PREP ACADEMY	894.27	889.02	795,024	529,795	265,229	53,046
9 HILLSBOROUGH	7834 RIVERVIEW ACADEMY HIGH SCHOOL 7835 IDEA VICTORY	153.06	889.02 889.02	136,073 913,575	90,678 608,796	45,395 304,779	9,079 60,956
9 HILLSBOROUGH 9 HILLSBOROUGH	7830 IDEA HOPE	871.4	889.02	774,692	516,246	258,446	51,689
9 HILLSBOROUGH	7850 VICTORY CHARTER SCHOOL TAMPA 6-12	157.1	889.02	139,665	93,071	46,594	9,319
1 INDIAN RIVER	5001 INDIAN RIVER CHARTER HIGH SCHOOL	679.81 89.97	1,903.05 1,903.05	1,293,712 171,217	402,742 53,301	890,970 117,916	178,194 23,583
1 INDIAN RIVER 1 INDIAN RIVER	5002 ST. PETER'S ACADEMY 5003 NORTH COUNTY CHARTER SCHOOL	261.92	1,903.05	498,447	155,170	343,277	68,655
1 INDIAN RIVER	5005 SEBASTIAN CHARTER JUNIOR HIGH SCHOOL	295.63	1,903.05	562,599	175,141	387,458	77,492
1 INDIAN RIVER	5006 IMAGINE AT SOUTH VERO	877.79	1,903.05	1,670,478	520,032	1,150,446	230,089
5 LAKE 5 LAKE	9018 ALEE ACADEMY CHARTER SCHOOL 9027 PINECREST ACADEMY FOUR CORNERS	168.96 515.54	1,039.22 1,039.22	175,587 535,759	100,097 305,423	75,490 230,336	15,098 46,067
5 LAKE	9028 ALTOONA SCHOOL	262.36	1,039.22	272,650	155,431	117,219	23,444
5 LAKE	9031 IMAGINE SCHOOLS AT SOUTH LAKE	1060.3	1,039.22	1,101,885	628,156	473,729	94,746
5 LAKE	9039 PINECREST ACADEMY TAVARES	915.85 1053.65	1,039.22 1,039.22	951,770	542,580 624,217	409,190 470,757	81,838 94,151
5 LAKE 5 LAKE	9041 PINECREST LAKES ACADEMY 9061 PINECREST LAKES MIDDLE/HIGH ACADEMY	249.42	1,039.22	1,094,974 259,202	147,765	111,437	22,287
6 LEE	4100 THE ISLAND SCHOOL	61.79	1,952.66	120,655	36,606	84,049	16,810
6 LEE	4102 BONITA SPRINGS CHARTER SCHOOL	1330.79	1,952.66	2,598,580	788,404	1,810,176	362,035
6 LEE 6 LEE	4103 GATEWAY CHARTER ELEMENTARY SCHOOL 4111 MID CAPE GLOBAL ACADEMY	2884.45 880.45	1,952.66 1,952.66	5,632,350 1,719,219	1,708,843 521,607	3,923,507 1,197,612	784,701 239,522
6 LEE	4111 MID CAPE GLOBAL ACADEMY 4141 SIX MILE CHARTER ACADEMY	796.98	1,952.66	1,556,231	472,157	1,084,074	216,815
6 LEE	4143 OASIS CHARTER ELEMENTARY SCHOOL-SOUTH	879.69	1,952.66	1,717,735	521,157	1,196,578	239,316
6 LEE	4151 OASIS ELEMENTARY CHARTER SCHOOL-NORTH	818.7 381.89	1,952.66	1,598,643 745,701	485,025	1,113,618 519,457	222,724
6 LEE 6 LEE	4155 FLORIDA SOUTHWESTERN COLLEGIATE HIGH SCHOOL 4171 OASIS CHARTER MIDDLE SCHOOL	381.89 844.57	1,952.66	1,649,158	226,244 500,351	1,148,807	229,761
6 LEE	4181 OASIS CHARTER HIGH SCHOOL	800.27	1,952.66	1,562,655	474,106	1,088,549	217,710
6 LEE	4212 CITY OF PALMS CHARTER HIGH SCHOOL	135.17	1,952.66	263,941	80,079	183,862	36,772
6 LEE 6 LEE	4223 PALM ACRES CHARTER HIGH SCHOOL 4231 HERITAGE CHARTER ACADEMY OF CAPE CORAL	274.28	1,952.66	535,576 455,380	162,492 138,161	373,084 317,219	74,617 63,444
6 LEE	4221 NORTH NICHOLAS HIGH SCHOOL	319.68	1,952.66	624,226	189,389	434,837	86,967
6 LEE	4251 CORONADO HIGH SCHOOL	315.04	1,952.66	615,166	186,640	428,526	85,705
6 LEE	4274 ISLAND PARK HIGH SCHOOL	276.2	1,952.66	539,325	163,630	375,695	75,139 172,395
6 LEE	4281 OAK CREEK CHARTER SCHOOL OF BONITA SPRINGS 4302 DONNA J. BEASLEY TECHNICAL ACADEMY	633.7	1,952.66	1,237,401 515,854	375,425	861,976 359,345	71,869
6 LEE	4303 NORTHERN PALMS CHARTER HIGH SCHOOL	103.86	1,952.66	202,803	61,530	141,273	28,255
6 LEE	4304 HARLEM HEIGHTS COMMUNITY CHARTER SCHOOL	198.5	1,952.66	387,603	117,598	270,005	54,001
6 LEE	4305 ATHENIAN ACADEMY CHARTER SCHOOL	404.11 461.1	1,952.66 774.21	789,089 356,988	239,408 273,171	549,681 83,817	109,936 16,763
7 LEON 7 LEON	1402 THE SCHOOL OF ARTS AND SCIENCES ON THOMASVILLE 1425 TALLAHASSEE SCHOOL OF MATH & SCIENCES	588.03	774.21	455,259	348,368	106,891	21,378
7 LEON	1441 GOVERNOR'S CHARTER SCHOOL	243.93	774.21	188,853	144,512	44,341	8,868
7 LEON	1444 THE SCHOOL OF ARTS & SCIENCES CENTRE	444.73	774.21	344,314	263,473	80,841	16,168
7 LEON 8 LEVY	1451 TALLAHASSEE CLASSICAL SCHOOL 60 WHISPERING WINDS CHARTER SCHOOL	421.88 104.06	774.21 500.72	326,624 52,105	249,936 61,649	76,688	15,338
8 LEVY	62 NATURE COAST MIDDLE SCHOOL	82.84	500.72	41,480	49,077	-	
0 MADISON	121 JAMES MADISON PREPARATORY HIGH SCHOOL	187.95	740.70	139,215	111,348	27,867	5,573
0 MADISON 1 MANATEE	122 MADISON CREATIVE ARTS ACADEMY INC 2101 MANATEE SCHOOL OF ARTS/SCIENCES	356.38 109.48	740.70 1,800.18	263,971 197,084	211,131 64,860	52,840 132,224	10,568 26,445
1 MANATEE	2102 TEAM SUCCESS A SCHOOL OF EXCELLENCE	1318,73	1,800.18	2,373,951	781,259	1,592,692	318,538
1 MANATEE	2104 MANATEE SCHOOL FOR THE ARTS	1955.57	1,800.18	3,520,378	1,158,544	2,361,834	472,367
1 MANATEE 1 MANATEE	2120 ROWLETT MIDDLE ACADEMY 2121 MANATEE CHARTER SCHOOL	660.61 556.92	1,800.18 1,800.18	1,189,217	391,367 329,938	797,850 672,618	159,570 134,524
1 MANATEE	2122 MANATEE CHARTER SCHOOL 2122 OASIS MIDDLE SCHOOL	52.84	1,800.18	95,122	31,304	63,818	12,764
1 MANATEE	2123 IMAGINE CHARTER SCHOOL AT NORTH MANATEE	718.1	1,800.18	1,292,709	425,426	867,283	173,457
1 MANATEE	2124 IMAGINE CHARTER AT LAKEWOOD RANCH	482.56	1,800.18	868,695	285,884	582,811	116,562
1 MANATEE 1 MANATEE	2131 PALMETTO CHARTER SCHOOL 2141 STATE COLLEGE OF FLORIDA COLLEGIATE SCHOOL	435.07 462.11	1,800.18	783,204 831,881	257,750 273,769	525,454 558,112	105,091 111,622
1 MANATEE	2161 VISIBLE MEN ACADEMY	70.39	1,800.18	126,715	41,701	85,014	17,003
1 MANATEE	2181 PARRISH CHARTER ACADEMY	745.12	1,800.18	1,341,350	441,434	899,916	179,983
1 MANATEE 2 MARION	2182 LAKEWOOD RANCH PREPARATORY ACADEMY 9670 MARION CHARTER SCHOOL	1259.5 230.34	1,800.18 981.28	2,267,327 226,028	746,169 136,461	1,521,158 89,567	304,232
2 MARION 2 MARION	9670 MARION CHARTER SCHOOL 9680 MCINTOSH AREA SCHOOL	37.08	981.28	36,386	21,967	14,419	2,884
2 MARION	9695 OCALI CHARTER MIDDLE SCHOOL	193.21	981.28	189,593	114,464	75,129	15,026
3 MARTIN	400 CLARK ADVANCED LEARNING CENTER	240.62	2,798.59	673,397	142,551	530,846	106,169
3 MARTIN 3 MARTIN	410 THE HOPE CHARTER CENTER FOR AUTISM 421 TREASURE COAST CLASSICAL ACADEMY	92.5 1098.95		258,870 3,075,510	54,800 651,054	204,070 2,424,456	40,814 484,891
4 MONROE	341 SIGSBEE CHARTER SCHOOL	546.03		1,565,839	323,486	1,242,353	248,471
4 MONROE	371 TREASURE VILLAGE MONTESSORI CHARTER SCHOOL	176.73	2.867.68	506,805	104,701	402,104	80,421
4 MONROE 4 MONROE	381 OCEAN STUDIES CHARTER 382 SOMERSET ISLAND PREP	172.91 86.22	2,867.68	495,851 247,251	102,438 51,080	393,413 196,171	78,683
6 OKALOOSA	9700 DESTIN HIGH SCHOOL	517.04	1,431.26	740,019	306,311	433,708	86,742
6 OKALOOSA	9800 OKALOOSA ACADEMY	151.56	1,431.26	216,922	89,789	127,133	25,427
6 OKALOOSA	9805 COLLEGIATE HIGH SCHOOL AT NORTHWEST FLORIDA STATE COLLEGE 9807 LIZA JACKSON PREPARATORY SCHOOL	403.9 976.05		578,086 1,396,981	239,284 578,244	338,802 818,737	67,760 163,747
6 OKALOOSA 8 ORANGE	9807 LIZA JACKSON PREPARATORY SCHOOL 33 RENAISSANCE CHARTER SCHOOL AT GOLDENROD	976.05	1,431.26	1,396,981	688,235	696,093	139,219
8 ORANGE	40 PROSPERITAS LEADERSHIP ACADEMY CHARTER	95.83	1,191.63	114,194	56,773	57,421	11,484
8 ORANGE	53 PASSPORT CHARTER	182.38		217,329	108,048	109,281	21,856
8 ORANGE	55 PRINCETON HOUSE CHARTER 56 LAKE EOLA CHARTER	112.19		133,689 231,009	66,465 114,849	67,224 116,160	13,445
8 ORANGE 8 ORANGE	61 HOPE CHARTER	411.81	1,191.63	490,725	243,970	246,755	49,351
8 ORANGE	65 UCP DOWNTOWN CHARTER	178.53	1,191.63	212,742	105,767	106,975	21,395
8 ORANGE	68 UCP WEST ORANGE CHARTER	258.65		308,215	153,233	154,982	30,996
8 ORANGE	70 UCP PINE HILLS CHARTER 72 OAKLAND AVENUE CHARTER	164.29 530.98		195,773 632,732	97,331 314,570	98,442 318,162	19,688 63,632
8 ORANGE	72 WORKFORCE ADVANTAGE ACADEMY CHARTER	283.89		338,292	168,186	170,106	34,021
8 ORANGE	80 LEGENDS ACADEMY CHARTER	303.57	1,191.63	361,743	179,845	181,898	36,380
	84 SHEELER HIGH CHARTER	306.46	1,191.63	365,187	181,557	183,630	36,726
8 ORANGE						226 766	15 254
8 ORANGE 8 ORANGE 8 ORANGE	85 CHANCERY HIGH CHARTER 89 ORLANDO SCIENCE MIDDLE HIGH CHARTER	378.43 1419.88	1,191.63	450,949 1,691,972	224,194 841,183	226,755 850,789	45,351

3,642	602,81	228,027	246,236	Þ7.9Eð	6°#8£	4121 ATHENIAN ACADEMY OF TECHNOLOGY AND THE ARTS	51 PASCO
<u>588,8</u>	201,01	216'602	629'92Z	\$236°24	354.33	4305 ACADEMY AT THE FARM 4307 COUNTRYSIDE MONTESSORI ACADEMY	51 PASCO
687,8	916'57	556'675	128'665	PL'629	5.828	4301 DAYSPRING ACADEMY	ODEAG 15
696'91	284'842 284'563	40,523	818,782 516,851	78.558,1 78.558,1	58.005 14.83	4111 SCMERSET ACADEMY WELLINGTON HIGH SCHOOL 4131 SOMERSET ACADEMY WELLINGTON HIGH SCHOOL	60 PALM BEACH
598,87 255,209	C#0'92'1	955,608	672,288,1 ats 782	1932,67	1028.87	4103 SLAM BOCA	HOABB MUAG 00
33,762	608,881	80,636	249,445	1,832.67	11.961	4102 BRIDGEPREP ACADEMY OF PALM BEACH	50 PALM BEACH
801,601 923,55	213,146	24'048 546'562	408,187 401,781	78.568.1 78.568.1	89.214 52.19	4100 CONNECTIONS EDUCATION CENTER OF THE PALM BEACHES 4100 CONNECTIONS EDUCATION CENTER OF THE PALM BEACHES	50 PALM SEACH
\$20.EB	021.214	£62.881	613,413	1,832.67	17.465	4090 SPORTS LEADERSHIP AND MANAGEMENT (SLAM) MIDDLE SCHOOL PALM BEACH	50 PALM BEACH
57,764	138,820	115,86	502'131	78.258,1	£6'111	4060 UNIVERSITY PREPARATORY ACADEMY PALM BEACH 4080 UNIVERSITY PREPARATORY ACADEMY PALM BEACH	20 PALM BEACH
184,752	674,546 674,546	261,788 261,581	862,427,1 570,802	79.558.1	4.78e 41.872	4061 FRANKLIN ACADEMY- PALM BEACH GARDENY PALM REACH	50 PALM SEACH
S27,80S	1'043'623	\$15'86Þ	1,542,137	78.SE8,1	74.148	4051 RENAISSANCE CHARTER SCHOOL AT CENTRAL PALM	50 PALM SEACH
182'930	101.876	912,784	110,781 110,544,1	78.SE8.1 78.SE8.1	61.16 148.887	4041 SOMERSET ECEDEMY BOCE MIDDLE SCHOOL 4060 REUNISSENCE CHERTER SCHOOL ET CYPRESS	50 PALM BEACH
134,258	137,130	320,660	196'166	79.558,1	92.142	4031 SOMERSET ACADEMY OF THE RATE	50 PALM BEACH
E&T,8T	111, EBE	£62,E81	010,788	1,832.67	309.39	YMEGADA JANOITANREN RUGAN OCON	20 PALM BEACH
269'962	184,874,1	106,239	82,128,1 827,481,5	78.568.1 78.568.1	1.5211	4013 SOMERSET ACADEMY - BOYNTON SHIGH SCHOOL 4020 FRANKLIN ACADEMY - BOYNTON BEACH	50 PALM BEACH
246,507 160,214	020'109	382,652	1183,122	79.568.1 79.568.1	6'5#9	4012 SOMERSET ACADEMY CANYONS MIDDLE SCHOOL	50 PALM BEACH
275,345	1'376,725	029'299	2,034,355	1,032,67	20.0111	4002 RENAISSANCE CHARTER SCHOOL AT SUMMIT	60 PALM BEACH
51,821 725,871	887,097 487,188	377,741	1,168,529	1,632.67 78,526,1	19.7£8 89.017	YM307 PELM BEACH PREPARARY YATOTARAPATH BALA 1705 4001 REVAISSANCE CHARTER SCHOOL AT WELUNGTON	50 PALM BEACH
152,18	691 907	010'961	£91,00à	1,832.67	89.755	3961 GRADENS SCHOOL OF TECHNOLOGY ARTS INC	50 PALM BEACH
805'89	865.716	189,121	612,692	1,832.67	526.03	3941 BEN GEWICK-PALM BEACH	20 FALM BEACH
248,051	112'82S SZ1'ZS9	861,875	812.438 812.438	78.5£8.1 78.5£8,1	12.865.29	3441 SOUTH TECH PREPARATORY ACADEMY 3924 PRLM BEACH MARITIME ACADEMY HIGH SCHOOL	50 PALM SEACH
246,889	1'534'442	999'685	111,528,1	19.558.1	EE.266	3431 REVAISSANCE CHARTER SCHOOL AT WEST PALM BEACH	60 PALM BEACH
242,58	601,124	204'306	632,015	1,832.67	38.445	3451 MORTHINGTON HIGH SCHOOL	20 PALM BEACH
89'330 99'231	499'905	206.670	239,327 639,487	19.568.1	348.85	TSA9 AUANTUM HIGH SCHOOL TSA9 SOMERSET RCADEMY BOCK EAST	50 PALM BEACH
22,260	662'111	591,52	164,464	1,832.67	¥L.68	3400 BELIEVERS ACADEMY	50 PALM BEACH
30.745	123.727	254.57	527,159	19.558.1	56'EZ1	YMA STI TO JOCH SO AND STORE AND SOULD A	50 PALM BEACH
810,1E1 477,881	180.828	403.097 712.917	866,786 786,825,1	78.568.1 78.568.1	11.852 11.083	3395 GOMERSET ACADEMY JFK CHARTER SCHOOL 3396 G-STAR SCHOOL OF THE ARTS	50 PALM BEACH
295'05	018,525	192'021	129'626	1,632.67	503'84	3394 MONTESSORI ACADEMYOF EARLY EURICHMENT, INC	50 PALM BEACH
619'9	58.215	13'428	£69'1+	1,832.67	52.75	3331 SEVENIT ACADEMY	20 PALM BEACH
63'011 560'524	316,355	869,021 866,638	958'226'1 958'226'1	78.558,1 78.558,1	12.422 124.21	3381 IMAGINE SCHOOLS CHANCELLOR CAMPUS 3381 IMAGINE SCHOOLS CHANCELLOR CAMPUS	50 PALM BEACH
288,7†	609'69	807.24	111,561	78.SE8,1	60'ZL	3345 GULFSTREAM LI.F.E. ACADEMY	HOVER MIAN 05
866,56	066'997	522,115	S01 289	1,832.67	374.92	2911 WESTERN ACADEMY CHARTER SCHOOL 2941 PALM BEACH SCHOOL FOR AUTISM	50 PALM BEACH
780,7A1 211,081	100,008	382,155	062,880,1 886,281,1	78.568.1 78.568.1	5'5 7 9 6'265	2801 PALM BEACH MARTINE ACADEMY	EO PALM BEACH
389,1E	158,428	119.21	534'102	19.568.1	127.74	2791 THE LEARNING CENTER AT THE ELS CENTER OF EXCELLENCE	50 PALM BEACH
5179	35,073	12'350	41,393	78.568.1 78.568.1	55.86		50 PALM BEACH
844,71 844,51	849,941	310,666	418,084 019,821	29,558 1	95.422	971 MATER ACADEMY PREPARATORY HIGH SCHOOL.	49 OSCEOLA
20,042	012.001	819,705	301,828	878.38	350.45	299 MAIN STREET HIGH SCHOOL	AJOBOSO 6
694,61 870,28	325'380	139,530	609'666 948'902	8C.878 8C.878	23.35.5	200 UCP OSCEOLA CHARTER SCHOOL YMSGACA RATARAGO SCHOOL YMSGACA RATARAGO SCHOOL	49 OSCEOLA
53'268	868.711	244,142	096'190	86.878	1.214	881 P. M. WELLS CHARTER ACADEMY	VIO3050 6t
40,864	504'351	115,554	823,638	85.878	\$5.\$17	866 KISSIMMEE CHARTER ACADEMY	AUCEOLA
918,6S 88,450	292,249 119,082	602'400 546'110	F08,285 F08,285	85.878 85.878	24.814 10.2201	863 FOUR CORRERS CHRATER SCHOOL 863 NEW DIMENSIONS HIGH SCHOOL	4103050 61 VIO3050 61
215'2	699'20	891'99	102,7201	86.878	56.911	852 ACADEMIR PREPARATORY OF CHAMPIOUSCATE	V103050 6
272,81	198'26	192,393	PS2,285	85.878	324.75	203 VICTORY CHARTER SCHOOL K-5	AJOSOCEOLA
929'9E 919'EE	875,571	348,208	885'2CS 219'388	8C.878 8C.878	92.788 87.788	192 CREATIVE INSPIRATION JOURNEY SCHOOL OF ST CLOUD 202 MATER ACADEMY AT ST CLOUD	AJO3020 01 AJO3020 01
25,232	191,182	180'115	805,242	85.878	2E.E12	191 RENAISSANCE CHARTER SCHOOL AT BOGGY CREEK	V103050 6
102.64	546,506	612'015	522.727	86.878	20.298	185 MATER PALMS ACADEMY	10 OSCEOTY
45'421	212,253	197,961	142,710	85.878 85.878	74.281 85.247	183 SPORTS LEADERSHIP ARTS MANAGEMENT (SLAM) 184 BRIDGEPREP ACADEMY OSCEOLA COUNTY	AJ03020 61 AJ03020 61
575,2	56,873	229'99	85,550	86.878	86.66	182 LINCOLN-MARTI CHARTER SCHOOLS(OSCEOLA CAMPUS)	VIOEDSO 6
65,238	326, 168	908'929	¥66'100'1	85.878	1140.73	181 OSCEOLA SCIENCE CHARTER SCHOOL	VIOEDSO 6
962'18	909'907	945'122	1'548'832 1'121'488	80°849 80°849	1310.9 22.1241	151 REVAISSANCE CHARTER SCHOOL AT TAPESTRY	10 OSCEOLA
144,04	505,236	866.814	621.234	85.878	92.707	155 VICTORY CHARTER SCHOOL	VIOEDSO 6
090'62	395,248	188,818	1,214,132	85.878	1382.24	IS FOUR CORNERS UPPER SCHOOL	VIOEDSO 61
55,82 55,533	517,666 190,713	922'929 382'153	246,228 862,942	85.878 85.878	90°126 96'999	131 BRIDGEPREP ACADEMY OF ST.CLOUD 149 RENAISSENCE CHRRTER SCHOOL AT PONICIANA 149 RENAISSENCE CHRRTER SCHOOL AT PONICIANA	AJO3020 61 AJO3020 61
11'325	29/99	121,82	112,683	£9.191,1	£7.4e	1019 MATER ACADEMY NARCOOSSEE HIGH SCHOOL	18 ORANGE
661,68	266'077	610'927	910,778	£9'161'1	88'982	1010 REINESSANCE CHARLEN AT CNOWN FOUND	BORANGE
028,641	219,749	191,957	810,764 187,884,1	£9.161,1 £8.161,1	47.885 78.7421	1010 RENDSERREP ACADEMY CHARTER 1010 RENAISSENCE CHARTER AT CROWN POINT	SONARO 81 SONARO 81
572,01	516,12	S87.08	021,201	£9.191,1	¥7.28	1003 LUCIOUS AND EMMA NIXON ACADEMY CHARTER	30NARO 81
895'88	S72'291	258,201	265'888	£9'161'1	58.672	1002 ECON RIVER HIGH CHARTER	8 ORANGE 81 ORANGE
527 5244	809'E 812'20E	3,566	796'I I 9	£9.191,1 £8.191,1	20.8 20.8	238 PINECREST EXEDEMY EXEDEMY 283 PINECREST COLLEGENTE EXEDEMY	IS ORANGE
36,545	927,281	299.081	363,388	£8.101,1	304.95	206 ORANGE COUNTY PREPARATORY ACADEMY CHARTER	BORANGE
199'981	853'52P	815'835	180,958,1	£9'161'1	121.94	200 PINECREST CREEK CHARTER 200 RENAISSANCE CHARTER SCHOOL AT HUNTERS CREEK	18 ORANGE
518,21 218,21	990'62 910'961	518,201 831,85	828,785 455,721	£9.191,1 £9.191,1	97'9ZE	202 SUNSHINE HIGH SCHOOL-GREATER ORLANDO CAMPUS 203 SUNSHINE HIGH SCHOOL-GREATER ORLANDO CAMPUS	30NA90 8
S75,88	\$26.16\$	426,504	878,728	£8.101,1	26.917	200 ORLANDO SCIENCE ELEMENTARY CHARTER	30 ORANGE
113'384 91'19	209'995 309'135	260,424 302,271	82,721,1 842,721,1	£9.191,1 £8.191,1	549.97 549.97	184 UCP BALES COMMUNITY ACADEMY 185 RENAISSANCE CHARTER SCHOOL AT CHICKASAW TRAIL	30NARO 81 30NARO 81
695'81	35,646	122 202	200 209 	29'161'1	56.421	183 UCP TRANSITIONAL LEARNING ACADEMY HIGH CHARTER	18 ORANGE
16,289	5177'92	£86.87	162,028	£9.161,1	157.58	RECESS CHARTER	BONARO 88
969'011 969'011	286,522	862'979	120,021 120,021	£8.191.1 £8.191.1	97.001 78.559	163 PARIE ECADEMY CHARTER 172 INNOVETION MONTESSORI OCOEE	30NAAO 81 30NAAO 81
991'98	922'921	062'621	901 021 999'67C	29.191.1	55.565		BUARDE
20,028	100,138	200'66	241,901	£9.191,1	167.12	152 INNOVATIONS MIDDLE CHARTER	BONARO 81
10,438	061'ZS 330'348	356,620	162'E01 696'959	69.161.1 69.161.1	SE.128 1.78	146 CORNERSTONE CHERTER ACADEMY HIGH 149 CENTRAL FLORIDA LEADERSHIP ACADEMY CHARTER	BONARO 81 BONARO 81
268,811 268,811	947'769	192'285	1,182,240	£8.101.1	21.22	133 CORNERSTONE ACADEMY CHARTER	BONARO 81
815'67	541,589	244,793	492,382	1,191.63	413'5	320 ALOMA HIGH CHARTER	18 ORANGE
-9-	Allocation -5-	-t-	Calculation -3-	-2- -2-	-1-	School Name School Name	District
			Calculation LCI	Allocation area	Calculation	100423	
, and a second	101	bECO					
rcı Zepool	School	etate	131	rcı	bridT		
່າວາ			101				

1. For the 2023-24 fiscal year, the amount required to be shared with eligible charter schools is 20 percent of the maximum calculated allocation.

School Charter 2023-24	Maximum Charter School	Charter School State		District	2023-24		
LCI Share'	LCI Allocation	PECO	Csloulstion Csloulstion	Allocation Allocation ETF ref	Calculation FTE	loota	
-9- -9-	45'324 -2-	230'402	212,759 -3-	936'14 -2-	-1- -1-	emski joorgi Admubi SEDAL DA LAND O'LAKES	
195,01	992'29	699'099	113'452	PZ'6E9	81.2111	4323 IMAGINE SCHOOL AT LAND O'LAVES 1326 CASICAL PREPARTORY SCHOOL	PASCO
2,922 2,675	12,875 12,875	165,281	211,471 208,701	\$2°629	88.80£	4321 FEPIN ACADEMIES OF PASCO COUNTY 4327 LEARNING LODGE ACADEMY	PASCO PASCO
512'2 126'7	36,073 24,633	308'465	333,125	\$23629 \$2629	262.54	4329 PLATO ACADEMY TRINITY CHARTER SCHOOL	PASCO
Þ16'11	Z29'69	746.033	S09'S08	PZ 629	125921	4330 DNION PREK CHERTER ACEDEMY 4330 DNION PREK CHERTERY WESLEY CHEPEL	PASCO
574,5 880,11	272,340	\$60,668 \$60,668	476,847 205,781	\$7.953 57,74	18.0011 S2.18S	4334 DAYSPRING JREPARATORY ACADEMY 4334 DAYSPRING JAZZ	PASCO PASCO
114	2'02R	166,15	34'042	¢2.9£ð	23.22	4339 PINECREST ACADEMY WESLEY CHAPEL HIGH SCHOOL	PASCO
112'271 172'311	065,867 062,867	103°525	260,888 260,888	5'360'46 5'360'46	326.2	7131 ACADEMIE DA VINCI CHARTER SCHOOL 7151 THENIAN ACADEMY	BINELLAS
275,24	SES.87E.1	051,184	285,758,1	2,360.46	4.87 7	YMEQDAA YAOTAAAAAAA KI YAYA	SALISA
519'18 519'19	100,804	395,245	1,456,121	5'360'46 5'360'46	88.818 230.88	7181 PLATO ACADEMY CLEARWATER 7191 5T, PETERSBURG COLLEGIATE HIGH SCHOOL	BINELLAS
153'LOF	618,526	207,257	826,783	5'360'46	\$18°61¢E	7261 PLATO ACADEMY PALM HARBOR CHARTER SCHOOL	SALISE
50'822 313'16	685,041,1 889,882,1	820'28E	1,522,331	2'360'46 2'360'46	14.768 14.568	7391 PINELLAS ACADEMY OF MATH AND SCIENCE 7331 DISCOVERY ACADEMY OF SCIENCE	PINELLAS
778,811 782,68	985'265	168'835	812,218	2,360.46	335.62	100HOS RETRAND ODRAL YMEDDAD 1867	PINELLAS
18'511	190'625 876'27E	165'911	2464°238	5'390'49 5'390'49	327.55 327.52	7411 ST. PETERSBURG COLLEGIATE HIGH SCHOOL NORTH PINELLAS 7481 PLATO SEMINOLE	DINETRYS
158'69. 158'98	216,813 216,813	72,650	289,066 289,066	5'360'46 5'360'46	363'84 155'63	7491 PINELLAS MYCROSCHOOL OF INTEGRATED ACADEMICS AND TECHNOLOGIES (MYCRO 7681 PLATO ACADEMY CHARTER SCHOOL TARPON SPRINGS	PINELLAS
130,43	271,228	162,815	£07,078	2,360.46	78.83£	201 PLATO ACADEMY CRAMTER SCHOOL TARFON SPRINGS 7691 PLATO ACADEMY OF ST.PETERSBURG	PINELLAS
19,981	£29'669	315,476	626,985,1 900,479	5'360'46 5'360'46	339.12	7731 ENTERPRISE CHARTER HIGH SCHOOL	PINELLAS
68,841	554,447 524,142	453'948	1,168,104	243.75	195.0781	T781 PLATO ACADEMY PINELLAS PARK CHARTER SCHOOL 441 RIDGEVIEW GLOBAL STUDIES ACADEMY	POLK PINELLAS
96'81 86'81	806,46 £64,101	395,765	98,894 858,894	97.E47 87.F47	2.72 8 57.078	Y601 BOK ACADEMY 1621 EDWARD W BOK ACADEMY NORTH	БОГК БОГК
11,28	084.88	182,855	455,061	57.EAT	13.178	1682 MCKEEL ACADEMY CENTRAL	POLK
:91'1 34'210	172,550 418,8	£95,578 £87,563	611,848 278,85	87.E47 87.E47	38.42 1140.32	1692 SOUTH MCKEEL ACADEMY 5002 POLK PRE-COLLEGIATE ACADEMY 5008	POLK POLK
S#'Z	162,75	666'S≯L	183'530	87.E4T	246.44	8003 POLK STATE LAKELAND GATEWAY TO COLLEGE CHARTER HIGH SCHOOL	POLK
24'94 24'94	566'92 153'510	102,690	865,508 888,508	97.E47 27.547	22.418 4.871	8004 NEW BEGINNINGS HIGH SCHOOL 8005 MAGNOLIA MONTESSORI ACADEMY	POLK POLK
30'51	280,121	515'165	742,597	S7.E41	S1/866	TROGNEADER OF LEADER OF LEADER AND TROUGHT AND TROUGHT AND TRUE TROGNEADER AND TRUE TROUGHT AND TRUE TRUE TROUGHT AND TRUE TROUGHT AND TRUE TROUGHT AND TRUE TROUGHT AND TRUE TRUE TRUE TRUE TRUE TRUE TRUE TRUE	РОГК
06'SI #S'01	52,738 742,67	311'442 508'481	612,622 96,06£	87.E47 87.E47	7.858 7.858	8008 LANGUAGE & LITERACY ACADEMY FOR LEARNING 8009 BRIDGEPREP ACADEMY OF POLK	POLK POLK
3'90 50'15	103'625	869'507	026,920	54°C72	8.1480	TROGNATION TROUCT T	ыоск
¥6'¥	24'110 18'214	1772'96 206'69	121,454	52'E#2	120.23	8020 MATER ACADEMY DAVENPORT MIDDLE SCHOOL 8031 ACHIEVEMENT ACADEMY	BOLK POLK
oz's	56,043	196'101	126,007	52°E72	11.571	YMEDADE ADDIATRAH 1218	БОГК
12'6 89'6	920'9 7 996'27	965,081 207,781	226,752 235,761	87.647 87.647	66.815 8.M05	8131 POLK STATE COLLEGE COLLEGIATE HIGH SCHOOL 8133 CHAIN OF LAKES COLLEGIATE HIGH	POLK POLK
22°E 06	15.31 148.44	101,40	80'481 55'332	52 872	30.03	8140 LAKELAND MONTESSORI MIDDLE SCHOOL	POLK
38,81 72,6	7/2'76	260'698	175,535	87.E47 87.E47	20.528	8141 LEVELEND MONTESSORI SCHOOL HOUSE 8142 BERKLEY ACCELERATED MIDDLE SCHOOL	POLK POLK
178'6	112,04	969'Z61	241,912	SL'E\$L	325.26	YMEGADA EDGIR YROTOT \$18	ьогк
20'#Z 82'9	749,85	113,332	542,224 542,279	67.E47 243.75	5.101 59.597	8181 DISCOAEKA HICH SCHOOF 8111 CABLEESS TINICLION WONLESSOLI	POLK POLK
16'2	895'95	143,167	982'621	52'672	541.66	8201 MI ESCUELA MONTESSORI	РОГК
:	-	847.411 847.411	-	-	193.69	51 THE CHILDREN'S READING CENTER 61 PUTNAM ACADEMY OF ARTS AND SCIENCES	MANTUR MANTUR
54'58	654'IZI	412,0T	£700,673	18.002,1	133.71	12 ST. AUGUSTINE PUBLIC MONTESSORI SCHOOL (SAPMS)	SNHOT .T2
.99'11 .52'2	966,82	38'046	66'385 55'222	18.002,1	12.03	71 THERPEUTIC LEARNING CENTER	SNHOF '1S
27'19	076,370	162'660	191,707	19.740,1	68.478	703 SOMERSET ACADEMY ST. LUCIE	ST. LUCIE
158'621 158'621	196'629	285,918 285,918	645,664,1 645,664,1	19.740,1 19.740,1	1452'48	711 REVAISSANCE CHARTER SCHOOL OF ST. LUCIE 712 SOMERSET COLLEGE PREPARATORY ACADEMY	ST. LUCIE
51,201	292'929	128,683	£19,805,1	19.740,1	15.4211	721 RENAISSANCE CHARTER SCHOOL AT TRADITION	ST. LUCIE
70,78	521'348	596,785 266,265	1,001,624	19.740,1 19.740,1	58.236 79.284	722 TRADITION PREPARATORY HIGH SCHOOL 731 SOMERSET ACADEMY BETHANY	ST. LUCIE
43'13.	215,686	142,085	122,864	16.740.1	Þ9'E14	741 INDEPENDENCE CLASSICAL ACADEMY	ST. LUCIE
68'7 68'7	874,45 760,787,5	018,958	714,87 700,824,5	61.671.6 81.671.6	78.9501 78.9701	8001 LEARNING ACADEMY OF SANTA ROSA 74 SARASOTA MILITARY ACADEMY	AZOR ATNAZ ATOZARAZ
E\$'ES	267,155	626,13	328'484	SI'EZI'E	103.52	81 SUNCOAST SCHOOL FOR INNOVATIVE STUDIES	ATORARAR
280'00: 382'03:	£10,005,1 £10,005,1	321,389	2,367,106	SI EZI'E SI EZI'E	86.243 545.49	8 ISLAND VILLAGE MONTESSORIAN 20 ISLAND VILLAGE MONTESSORIA 20 ISLAND VILLAGE MONTESSORIA 20 ISLAND VILLAGE MONTESSORIAN 20 ISLAND VILLAGE MONTESSORIAN 20 ISLAND VILLAGE MONTESSORIAN 20 ISLAND 20	ATO2AAA2 ATO2AAA2
451,02	2,105,143	483'S26	2,568,402	SI.E71.E	27.218	100 SARASOTA SUNCOAST ACADEMY	ATOZARAZ
56'691 96'691	268,010,5 227,948	581'169 020'561	3,702,082	SI'E21'E	1199.65	YMAGASA SUBART LEADER SOF TIAOT TAO ATAON SOF TAOT TAON SOF	ATO2ARA2 ATO2ARA2
544'82	1,224,267	281'044	1,505,11	31.671,6	414.39	106 IMAGINE SCHOOL AT PALMER RANCH	ATO2A9A2
90'28 144'28	197,534	103'639	£88,888 768,888	61.671,6 81.671,6	280.12	110 SKY ACADEMY VENICE 213 SARASOTA ACADEMY OF THE ARTS 211	ATOZARAZ
01 691	942.246	201,461	139,650,1	31.571,5	327.64	117 SKY ACADEMY ENGLEWOOD	ATO2AAA2 ATO2AAA2
116'18 558'13	913,652 933,939 958,682	134'020 S65'231	021,804,1 682,717	51.671,6 21.671,6	443.14 72.852	120 DREAMERS ACADEMY 122 STATE COLLEGE OF FLA COLLEGE OF FLA COLLEGE ACADENT 22 STATE COLLEGE OF FLA COLLEGIATE SCHOOL-VENICE	ATO2AAA2 ATO2AAA2
127,32	636,632	196,402	160'E61	SL'ETL'E	249.92	1601 COLLEGE PREPARATORY ACADEMY AT WELLEN PARK	ATO2A9A2
26'99 ISE'E1	\$09'¥EE \$62'99	197,8T 198,590	861,857 828,841	18.400,1	20.351 20.358	9229 CHOICES IN LEARNING CHARTER 9229 CHOICES IN LEARNING CHARTER	Sewinore Sewinore
17'69	597,066	350,317	685,748	18.he0,1	25.162	3333 GALILEO SCHOOL FOR GIFTED LEARNING	SEMINOLE
17.71 147.77	669'88£ 9Z5'89Z	316,661	920'278 281'589	18.400,1 18.400,1	13.468 ST.ETT	9255 GALILEO SCHOOL FOR GIFTED LEARNING SKYWAY	SEWINOLE SEWINOLE
52,23	121,111	131,076	242,227	18.460.1	221.25	9263 ELEVATION HIGH SCHOOL	SEMINOLE
15,45 17,921,92	129'692'6	287,181,2	349,355	3,243.20	18.1832 36814	6891 THE READING EDGE ACADEMY	ABTMU2 AI2UJOV
96'011	968,428	895,8 8 8	1,123,204	92.071,1	85.928	2621 1VY HAWN CHARTER SCHOOL OF THE ARTS	VOLUSIA
15'13 159'51	826,028 826,028	641,634 641,634	1,262,992	92'021'1 92'021'1	20.6801 88.401	7631 BURNS SCIENCE AND TECHNOLOGY CHARTER SCHOOL 7841 THE CHILES ACADEMY	AISUJOV VOLUSIA
	741,284	086,865	121,286	92'021'1	88.828	YMEDADA MALBURN ACADEMY	AISUJOV
20,76		1 999 901			16.631	Y991 SAMSULA ACADEMY	AISUJOV
9'61 9'61 8'0'0	98,264 800,81	084,86	420,801 884,411	£7.888	166.23	5 WEKULLE COPST CHERTER SCHOOL OF ERTS SCIENCE & TECHNOLOGY	M¥K∩rry

ltem Number:	18.A.
Meeting Date:	3/12/2024
Item Type:	TIME AND DATE OF NEXT MEETING

AGENDA REQUEST FORM

City Of Cape Coral Charter School Authority

TITLE:

The Next Regular Governing Board Meeting will be held on Tuesday, April 9, 2024 at 5:30p.m., at City Council Chambers, 1015 Cultural Park Blvd., Cape Coral, FL 33990

SUMMARY:

ADDITIONAL INFORMATION: